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LIFE SCIENCES

This Test Booklet contains one hundred and twenty (20 Part*A"+50 Part ‘B" + 75 Part °C")
Multiple Choice Questions (MCQs). You are required 1o answer & maximum of 15; 35 and
25 questions from part *A' ‘B’ and *C respectively.  |f more than required number of
questions ar¢ answered, only first 15, 35 and 25 questions in Parts ‘A" “B" and °C
respectively, will be taken up for cvaluation. I
3. OMR answer sheet has been provided separately. Before you stari filling up your
particulars, please ensure that the booklet contains requisite number of pages and that these

I are not torm or mutitated. 1 it is so, you may request the Invigilator to change the booklet of
the same code. Likewise, check the OMR answer sheet also. Sheets for rough work have
been appended to the test booklet, _

3. Write your Roll No., Name and Serial Number of this Test Booklet on the OMR angwer

f sheet in the space provided. Also put your signatures in the space earmarked.

4, You must_darken the appropriate circles with a black ball pen related all

]

answer sheet.
5. . Each question in Part ‘A" and *B? carry 2 murks and Part *C" questions carry 4 marks each,
respectively. ‘There will be negative marking @ 0.50 merk for cach wrong answer in Part
" A’ and 'Bi:ﬁ.ﬂd @ | mll'li for Part ; e : ,-

6. Below each question in Part® A', *B" and “C' four alternatives or résponses arg given Only Il
one of these alternatives s the “correct” option to the question. You have to find, far cach
question, the corredt or the best unswer. N _ _

7. Candidates found topying or resorting to any unfair means are lisble to be disqualified
from this and future examinations.

It 8  Candidate should not write anything anywhere except on answer sheet or sheets for rough I
wark.
. lise ofcalcutator is NOT permitted.
. Afi test is over, at the perforation po ie OMR answer sheet, hand ove
11.  Candidates who sit for the entire duration of the exam will only be permitted o cary their
Test booklet.

3-A-H

S/06 CRIEM9-3AH- 18


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

A

HTT/PART- A

T T W 4T v gy ) i R
%ﬁqi@###&w%m@ﬁﬁw
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2. grgfeam afy &

3. wrATEs T &

In & bacterial cell. a protein is synthesized at
random location in the cytoplasm. The protein
has to reach one pole of the cell far its
uppropriate lunction. The profein reaches the
pole by

I. chemical atiraction

2. random movement

3. enzymitic uction

4. attraction between opposite charges

UF W T O AT 1234 F Sy
SHT-HTT AT T THEF H 22 AT &1 0 oy
T HFT I 67T F = F awrert grar 3y
T A T e i P afaee wnit pde
I. @ 2. 30

3. 70 4. 90
A precious stone breaks into four pieces
having weights in the proportion :2:3:4. The
value of such & stone is proportional to the
square of its weight, What is the percent loss

in the value incurred due 1o breaking?
| 2. 30
3. 70 4. 90

U HTG WA FOE 4 Sz w6 747 8
o & % wF oy s £ 9 & Rur oty &
#e 77 @ 1 2 Fot vz arg weft A e
& Frow AT a7 R

I 8

b . 24
o

. 160

O

Two runmers starting together run on a
circular path taking 6 and 8 minutes,
respectively, to complete one round. How
many minutes later do they meet again for the
first time on the start line, Essuming constant

speeds?
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1. 8 2, 24
3. 32 4. 60
Frenfiat grar sa # e i 57 B
v amooft & gare 2

A 0.1 7

n 04 |

C 0.3
i 0.2
Fr 5 Faendeiar i s s s =y
74
1. 3 2.4
3. 8 4, 10

The distribution of grades secured by students
in a class is given in the table below.

Grade | Fraction of lhl:—|
population
A [H]
B 04
C 03
§of 0.2 |

What is the least passible population of the
class? =

[ 2.4

3.8 4, 10

G = Xy, X, X3 o Xg BICIET ®HOH

Tt si m AT et A s i

L. Average (%;,%; ... xq, m) > ni 9T
Average (x3,%3, ... Xo) = m

2, Average (x4, X5 .. g, m) < m 79T
Average (xy.X5,..%5) <m

3. Average (x,, x5 v Xg, M)= M THT
Avernge (Xz,Xx3,.%)>m

4. Average (X1, X3 ...Xo,m) <m aHT
Average (¥, X3, .. Xg)=m

The nine numbers xy,%.,25..%9, are in
ascending order. Their average m is striotly
greater thanall the  first  ¢ight  numbers.
Which of the following is true?
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T

I. Average (x4, %z - xq,m) > mand Average
(X0, X5, Xg) =m0

. Average (X, %5 ... Xq, m) <m and Average
fxg, X3, .. rg} =m

3. Average (Xy, Xz ... x5, m) = mand Average
(X3, %3, ... Xg) =11

4, Average (X3, X3 .. Xq, ) <m and Average
(%3, X3, ... Xg) =M

=

i # W ar o wfg=nen, s, e
Frta w1 wiafEes s 82

Lae=—n oy \I
(o)) (5
A 4 =

Which among the following @ diagrams
represents women, mothers, human beings?

Vi) b
® &

E| — q

T FEST A4T U A e T A 2

Fararet #r sifirram o w8

Az o § A1 vz o o 2 (wel)

rft ok 7 € e A w7 (FuA- 1)

Foreer 3% i Y ot &2

| g1 {Er & 7T T (1 e §

2. ®9A- || HET & 97 F9A. | TET 2

3, 241, FUA- (797 1, A §

4, Tt qar 1 gz Bfte o f
AT AFAT

A boy and & girl make the following
statements, of which at most ohe is correct:
The one in o white shirt says: “1 am a girl”
(statement-1)
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The one in a blue shirt says: *l am a boy”™

(statement-11)

Which of the following is the comeel

inference?

1. Statement-l is comrect bul statement-Hl is
incorrect

2. Statement-l is correct but statement-1 is
incorrect _

3. Both the statements | and 11 are incorrect

4. The correctness of the statements | and ||
cannot be ascertainad.

I 19 2. 18
3. 19 4. .20

How many quadrilaterals does the following
figure have? '

L7 2. 18

3. 19 4, 20/

AA-AT £, T 24 # 735 %7 (AAT 4T AT §)
& fa=r, a1 A0 F 0w a0 FE w6
1. 174 2.
3. 136 4,

/12
1/55

12 balls; 3 each of the colours red, green, blue
and yellow are put in & box and mixed. 113
balls are picked at random, ‘without replace-
ment, the probability that all 3 balls are of the
‘same colour is

L 1/4 2.
3. 1/36 - 4.

Wz
1/55
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F AT A A g et & wrar F gaiE

ud w7 77 B amn &8 §1 il qur qatear F

Tt # FE A wEwe T g oA, e g g

2. gyt F w1 T2AT U gt

3. ®E Y A wrow gateg gy A

4. qETey W A 0 HT FOT AET E A
it o atm wTE & gy afm gt 2

Some aliens ohscrve that roosters call before

sunrise every day. Having no other

information about roosters and  sunrises,
which of the following inferénces would

NOT be valid?

1. Rooster-call and sunrise may be
independent cyclic events with the same
periodicity

2. Both may be triggered by a common
cause

3. Rooster-call may be causing the sunrise

4, Sunrise cannot be the cause of rooster call
is the rooster-call precedes sunrise

99 5, 8 797 12 P ¥ =41 %7 IvaT 0w
T wr gl e oedt # 3 s wrt
# atzar £ o ww & s fEadt ane
mﬁﬂw#@%mimﬁ:&mﬁm
1. 2. 4

3. 5 4 7

Twenty-one litres of water in & tunk is to be
divided into three equal parts using only 5, 8
and 12 litre capacity cans. The minimum
number of transfers needed (o achicve this is:
1.3 pln ¢ '
3.5 4. 7

STT watE v, e, T T S # 4 A
T TR AT UF qf@W 9% Wy 5w & arg
TERT 9T A2 ATe 7 99 ST wed g1, drer

T =T A W A7 AEA 7, 99 e F &

a2

|. w1 & oft #rr v W9 a7 AT A

2. UEE, T ¥ gy dfzy, WA 6 FrE uE
AT ST AT B
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Of four agents Alpha, Beta, Gamma and

Delta, three have to be sent together on a

mission. If Alpha and Beta cannot go

together, Beta and Gamma cannot go together

and Gomma and Delts cannot go topether,

then which of the Tallowing holds?

I. Any three ngents can be sent.

2. Alpha, Delta and any one out 6f Betia and
Ganima can be sént,

3. Beta, Gamimn and any one out of Alpha
and Delta can be sent,

4. The mission is impossible,

0 qET e = Gy # 2l e A
fgare Ty o w9 ATE FE awT o
war #1 =3 $ wifrar 26 (em’ #)

10cm

munyf

| afem
v 7
% %
—_— 40cm
1 8000 2. 1000
3. 4000 4. 6000

An  open rectangular box is made by
excluding the four identical corners of a pigee
of paper as shown in the diagram and folding
it along the dotted lines

10cm

10Gm ?f

40em

The capacity of the box (in cm’) is
1. 8000 2. 1000
3. 4000 4. 6000
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IS.

ey 7 3 i 32 i FA AT 22
250. 34ui 43‘01 s:ﬁl

A %, 3%
3. 430 4. 5%

Which of the following is the largest?
230,38 N, 558

S S

31-0
3. 431] 52{1

i

T %7 FE W % 0 9% 97 T3ay #1 w
S i = st e e ¥ i

“Ereagy soami

05 sy 2y v i v s 2w By
7 #fiwms g wEr
|, =% T ETe i g
2. AR T AATEE
LRtk o
4, 7% ¥ 3w R e

2 Enprgy gained

=

A monkey climbs a tree to eat fruits. The
amount of energy gained from eating fruits

and the energy spemt in climbing on differemt

branches have a rclationship shown in the
figure.

roerigy gl ed

Bg

4] Enorgy spent

The ratio of cnergy gained 1o cnergy spent

will be the maximum

|, at & paint where the slope of the curve is
the maximum 7

2. at a point where the slope of the curve is
unity

3. at a poim on the curve where the tangent
passes through the origin

4. at the highest point on the curve

3-A-H
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16.

1%

by

serarErT T TR §) AT ¥ IW AE

P Fre w7 Rame s

A. S 3 Ui WIE ATST § AW wAr Oy
s &

p. =i | a7 AT ATiRasr & #fieE T
o= 7 I

C. %W & F7 % 9T Wrew T s g

D, F9 & FH U AT ATCAE 97 B0

= B Fre-aT wuw stfETiE: a9 8

|. BAETC 2. ATUTC

3. BEETD 4. A, CTRTD

The length of a eylinder is tneasured 10 times,

yielding 10 distinet values, For this set of

values, consider the following statements.

A. Five of these values will lic above the
mean and {ive below, it

B. Five of these values will lic above the
median and five below it

C. Al least one value will lic above the mean

1. At least pne value will lie at the median

Which of the statements are necessarily

correct?

|. Band C 2. Aand C
3 BandD 4, A, Cand D
Rogm R, 0%,

ZPAO = 40° £PBQ = 30° 74T AF] 170
£AOB = 220°.

7T £AQR BN _
1. 702 2, Bo®
3. 60° 4. 110°

In the given circle, 05 the centre, LPAD =
407, £PBQ = 30° and outer angle
£AOB = 220°.
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Then £LAQR is

|. 70° 2. BO®
3. 60° 4, 110°
TR0 1 uw =y e e g

aTAT 21 T ¥ AT A B =T 813w G,
AT Gy TErE # At w1 % B o
w9 q WS A 7T Gy ¥ ow v &
griEFar 10% & w=fs G, f1 20%. T E A
# B # @ aga f wrfrear anft

1. 10% 2. 20%
3. 28% 4. 30%

. A conal system is shown in the figure

Water flows from A 1o B through two
channels, Gates G; und G, are operated
independently  to regulate  the  Tlow.
Probability of G, to be open is 10% while that
of Gy is 20%, The probability that water will
flow from A ta B is
I 10%

3. 28%

Hrers ¢ AT w6 v At fw srew e
UL AT &) A g A el ardt &
s w37  wrte v i it w=e i o
# et a7 st

2. 260
4. 30%
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. T 4. Imt

wd

A long ream of paper of thickness ¢ is rolled
tightly. As the roll bécames larger, the length
of the paper wrapped in one turn éxceéeds the
fength in the previous tum by

It 2. 2t

3wt 4, 2t

By w7 v av By 4 4w e
P g o ewth wwar 8 waw gubr F 4 %
aais fPuft & 9gwd oF oz ok R
et =T &1 68 29 40 Reft anfe

Iﬁﬁial final

J.-2r
-_Z.rr\lf'{l +nt)

3.ry (4 +a?)
4. 2r/( +n%)

Point 4 on a whee! of radius r touches the
horizontal plane st point . It rolls without
slipping, till point 4 is at the highest position
in the first tum: Whatis the (inal distance 477

final
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YRT/PART- B

i werer F For Broomr Frafife et i a

A AT swew &7

1. UF-SeiaT ey arsw | f-gurEt i T A
REAT E, WAL, =TT AT B

. I wgE e % A a-rre iR
FTAAT Tl STATAT RO §

3. Tt ST d Bowrt # vy ar
E= REIGR it

4. srE=tia WdET F aftar sy & R
WO,y T e g

b=

Which one of the statements on protein

conformation, detailed below is

INCORRECT?

I, L-amino acids can acourin Type 7 fi-

turmns where §, i -ate both positive.

A peptide rich in profine is unlikely to

adopt a-helical structure,

3. Proline residues have high propensity
to oceur in f-tums,

4. The dihedral angles ¢, y of amino acids
in unfoided proteins are exclusively
positive.

ey wfte stfiay & Fm FraffE se 6

T AT WA E g0

1. e st 3 e

Frameframe sagre  fer ol o 31

afiee s #, T T e O A

it sl g #1

. S—P sfvrfiT % s sEeeT SEes

WHEY T ZEAT ¥ T gy vt P

Frsrior & agra 5w awew W afata

7 freray AT

4, wEEEs e Kear= 1.4 10" s s
Km =910 M 2, 3fy afirsr farre
frifae sy F wfr &t &

gu

(7

Choose the INCORRECT statement from
the following statements made for an cnzyme-
r:atai vzed reaction
The kinetic properties of allosteric
enzymes do not diverge from
Michaelis-Menten behaviour.

3-A-H
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. In feedback inhibition, the praduct of a
pathway inhibits an enzyme of the
pathway,

. Anantibody that binds tightly to the
analog of the transition state intermediate

“of the reaction S—P, would promolte
formution of P when the analog is added
to the reaction.

4. Ancnzyme with Kear = 1.4 x10" 5" and

Kim = 910" M has activity close to the

diffusion controlled limit,

Lix

. Bz frmam % s B e wfe

=Zwitar & Be arEet aew, C 20% am A 3 T

. 20% 2, 0%
3. 50% 4. 60%

On sequence analysis of a double stranded
DNA, the results showed the -content of
gytosine, C was 20%. Whar is the amount of

Aand T put together?

12056 2.°30%
3. S0% 4. 60%

TRTENTAA (a0 ww =y # v e o

TR
. THTH G-FTPRE
T ST RIA O-FTRE

The first step in glycogen Breakdown releascs
glucose units us

i glucose G-phosphate

glucase [-phosphate

glucose

. glucose and glucose G-phosphate

Ll S ]

-

Na'/K* ATPase T sttty g o ot
W v 4T Ty A ) G sy
Rt F & getradE gamEar
e Na' 5 afEdeft s+ 5t

wam K ¥ st 59§

. K s Na' ¥t srdelt sy afndf
AT

T [P w7 ot e @)

g

Kad

=
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The Na'/K~ ATPase pump is found on the

plasma membrane of most animal cells. A

mutation in the intrinsic phosphorylation’ site

of the pump is most likely 1o affect

| the outward movement of Na' only.

2. inward movement of K" only;

3. both the fnwird and outward movemen| of
K and Na'.

4. has no effecton pump activity but affects
its stability.

The gite of the division plane during
cytokinesis of animal cells is determined
1. by position of nucleus.

2. by the central spindle,

3. by the pre-prophase band.

4. ramdomlv.

T Fad At S RO W AT
1 gafbg whemley & g=f =f@o @ o

. 5 2. fefess

To prepare individusl tissuc cells from n

primary culture, the cefl-cell and cell-matrix

interaetion must be broken. Ta achieve !J:us,

ancwmiid NOT use:
. EDTA

3. Collagenase

2. Trypsin
4. Separase

W W F SRR T AW A

Frwfatie & % =i =7 %97 777 76 87

|, Fros i arafits dr=em w7 T
g mfrafd gt &

2. ¥ wor 8 S, B dheime e
7 1.65 T ¥ AT T AT FE
w3 wrafe g &
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. W 30 Aandter § # wa &, wE arwrewaar
wiit s 6 =pfismaT - s afoe §
wafer g &

4, % § wA-2hias e o et

Sz 208t 8 e S R ¥ o

afa o e Freadt £

Which ane of the following statements is

NOT true about nucleosomal organization of

core particle?

1. The typical structure of DNA is altered in

the middle of the core particle.

In core particle, DNA is organized as flat

super helix with 1,63 turns around the

histone octamer.

3. While forming 30:nm fibers, generally 6
nuclensomes per turn organize into a two-
start hefix .

tad

P

4, The N-terminal histone tails ina core

particle are strictly ordered and exit from
the nucleosomes between tums of the
DAL
afagfws 5 e, RNaseH S fir
S W T G A FANEIEE BT A
L e i s R
1. =@ ey way S a3 S
£ ﬁﬂﬁﬂ'wmh

2, FRFAR AT T A AT W
mwﬁzﬁ?wmzt :
3o g AT AT FUAT 7 I A R
e e wwaT 3

4. RNaseH &t fapsftear S i = §
AT TR AT W AT T
anftafd & seavg AT )

During replication, RNaseH removes all of

the RNA primer except the ribonucleotide

directly linked to the DNA end. This is

because

I. it can degradc RNA and DNA from their
5' end.

2. it can ‘only cleave bonds between two
ribonuclentides,

3. it can degrade RNA and DNA from their
3" end.

4 activity of RNasetl is inhibited by the
presence of duplex containing both strands
as DNA. '
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In & human cell line, a large fraction of
double-strand DNA breaks are repaired by
non-homologous end joining (NHEJ). An
inhibitor of FLAP ¢ndonuclease will affect

1. recruitment of DNA-dependent kinase,

2. pap trimming,

3. DNA unwinding.

4. pairing of micro-homology regions.
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Sugar puckering in double stranded nucleie
acids js exclusively

. C-27 etdo In double stmnded INA

. C-3" endo in double stranded DNA

; i 2” endb in double stranded RNA
endn in hybrid duplex with one

slrand as DNA and the other ds RNA

o sy syt 26t 3 o 5

ST R T et 51 5 A s
W AT § el # & e A e e s 87

£ lad fd —

I & e # 53w R

BRE AT WA fi

2. T AT At e alir S
F7AT 1

3. nﬁﬁﬁﬁmlil TR
TATEHT G {1 W e f e war

4. TE TIEETAIT BT 4009 ITEHIE & SEwer
T R AT B

Eukaryatic mRNAS are modificd w possess a

57 cap structure. Which one of the following

is an INCORRECT stateiment sbout the

finction'of the 5" cap structure?’

[, It protects the mRNA (fom 5'—»3"
exoribonuclense attack,
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2. I facilitates splicing of the naseent
Iranseripts.

3. It protects the transeript from degradation
by RNAse Il family enzymes,

4. I facilitates attachment to 408 subunit of
ribosome,

o § 3 W qTrY I e qr Iufee
vt ST md et gr W
TgarTe ST i iy T Twar?

|. SRt 2, fEfRw
3. ¥refeT 4. Frmfas

Which one of the following does NOT belong
10 human antimicrobial proteins and peptides
at epithelial surfaces forming part ol innate

immunity?

I. Lactoferrin 2. Delensin
3. Calprotectin 4. Vimentin
Frafifi & & o ssrz-frmage w520
L. e 2. vl
3. rrEEEvETTE 4, Wereefipr
‘Which one of the following best describes
death-upon-detachment? _

1. Necroptosis 2. Anoikis

3. Extravasation 4. Moetnstasis
T WEITEE WA i et S ey

FET AT o ATl S 4 s e
¥ fom amdt vt & PR & & o

fammer o s g e e E ook
e g g7

P i id 2. fame.

3, #TH 4, maarEeT

Fruit bats are known (o harbour and spread
scveral viruses that can infect other animals
and humans. Which one of the following
viruses is NOT reported to spread by fruit
bats?

I. Ebola .
3. SARS

2. Nipah
4. HIV

T | ft afﬁil‘ﬁ'amﬁﬂrﬂ-rm Tar whft
yfafimar &, Pefafm 7 & fem Sbafas
ATV AT T H AT 2 AT A i
FETEATT AT 27

|, mTeEtEST
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In a type | hypersensitivity-mediated
asthinatic  response. which one of the
following: is thought to contribute
significantly to the prolonged bronchospasm
and build-up of mucous seen in asthmatics?

I. Thromboxane 2. Leukolriehc
3, TGFp 4, Chondroitin

g et ¥, w7 whiow, FE AT A AT ®
wRTR AT T, T AT §

el o M

In certain plants, the mechanism where timing
of anther dehiscence and stigma receptivity
do not caincide to avoid self-pollination is
called '

I. dichogamy " hnrkaglmg
3. monoecy 4, dioee

At gt #, et oftemrfi st &
firerer 3 sl i oA §1 s s
mmw&nqﬁaﬁrﬁwmﬁﬁ
sreaw 3 (e 3) w1 wrefin s it wefhr
Frierst # sthrats 3 s ot ST T
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ST SET BT T SRR 0 AT

A, Frog wrfy TawmT

In Xewmopux cmbryos, [-tatenin plays an

important role In the Dorsal/Ventral axis

development. What would you expeet If the
endogenous  glycogen synthase kinase 3
(GSK3) s knocked out by & dominant-
negative form of GSK3 in the ventral cells of
the early embryo?

1. Blocking of GSK3 on the ventral side has
noeffeer. A normal embryo will form.
The resulting embryo will anly have
ventral sides,

3. Asecond axis will form.

4. The dorsal fate is suppressed.

-
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Homeobox  transcription  factors  (Hox
proleins), ptay important roles in specifving
whether @ particular mesenchymal cell will
hecome  stylopod. #eugopod or  autopod,
Based on the expression pattems of these
genes, a model was proposed wherein these
Hox genes specify the identity of o limb
region, What would be the obscrved
phenotype for human homozygous for a
HOXD I3 mutation?
I. Mo zeugopod formation.
2. Abnormalities of the hands and feet
whercin the digits fuse.

3. Deformities in stylopods.
4. No femur or patella formation.

Frwfatan & & vt Tt i e & ant

zutaT 87

2, Wit g 2w &
3, srrers Eporor wfET i W T o EeT
4. witees =hiie 7 - =

Which oneof the following describes the

function of silicon in planis?

I, Constituent of aming acids

2. Contributes to cell wall rigidity und

elasticity

Constituent of the photosynithesis reaction

cerntre:

4, Maintenanee of cell turgor and electro-
neutrality

i
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Most of the plant disease resistance (R) gene
products contain:

G-Box domains.

Transcription repression domains
Leucine-rich repéais
Enzymatic activitics

= W =

m%wmﬁavmﬁ%%ﬂ%wﬂwm
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|, &t
3. i,
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Out of several gibberelling identified in
plants, which one of the following is NOT
bioactive?
3. GA,

2. GAy
4. (3A,

ATegifaee, uH WiEA wrer vy, N
Nﬂquﬂﬁﬁmwmﬂwglﬁiﬁﬁ?
& i ot sy gt Y fa
ﬁﬁﬁﬁ"
|. wifastaw (Mo)

2., #rues (Fe)

5. ¥ (V)

4. Frar=(Co)

Numg.cnasa, a mp]m metal  comtaining
enzyme is involved in conversion of N; to
NH;. Which one of the following metals is
NOT involved in the activity of nitrogenase?
I, Molybdenum (Mo)

2. Iron (Fe)

3. Vanadium (V)

4. Cobalt (Co)

. Fmfafir wiEt & & wita fifrrs s &

HTERT 1Ty
R

£ L S
At e gy
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Which one of the following agents cause
reluxation of mesangial cells?

I. Histamine

2. Thrombaxane A,

3. Norepinephring

4. Dopamine

v whw vy o wRaw f i 5 ag

HETATH s B Tiwer wATe 3 2 afw

wgFr v s s fr Prfitae F @
wie 71 Bt I w5 # o
ptc
{?ﬁnw&""mwy
2. WiTEAw v P WA 1
(mftraa)
3. i g O (arEarnd)

A patient comes to the hospital complaining
of vomiting and diarrhoea.
suggesied that the patient take glucose and
electrolyte solution orally.

The doctor

Which one of
following membiane proteins is likely to be
mvﬂlwd in rehydrating the patiemt?
I Cystic fibrosis transmembrane regulatar
(CFTR)
2. Sodium glucose transporter protein |
(SGLTI)
3. Insulin receptor protein (IRP)
4. Sucrase-jsomaltase protein (SIP)

arét s # frafie f, F g R
Fndt smavawaT 21T 27
|, wrararffeT

2. 2l
3. wfafe
4, Na'-wEraratacs:

Which one is required for vitamin B,
ubsorption in small intestine?

I. Cobalophilin

2. Hephaestin

3. Hepeidin

4. Ma -gotransporter

e or werer ER wr ufw #@ =
TR gt w free g T w2t
T FAT W T &7
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Which one is the ¢orrect sequence of events

that takes place during phototransduction

when light falls onto the retina?
l. Closure of Na' channels—activation of

transducin—decreased release of
glutamate— decrease in jntracellular
cGiMP—sstructural changes in rhodopsin

. Decreased release of glutamate—sstrugoiural
chunges in rhodppsin—activation of
transducin— decrease in intracellular
cGMP—=closure of Na’ channels

3. Structural changes in rhodopsin—s
agtivation of transducin—decreass in
intraceliular cGMP-—sclosure of
Na’channels—+decreased release of
plutamate :

. Decrease in intracellular cGMP—sactiv-
ation of transducin—decreased reltass of
glutamate—structural changes in
rhodopsin—+closure of Na " channels

e

48, e uTHTT 3 T S () a

48,

uﬂﬁfﬁﬁrmﬂ* =T R
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3. SAEATEA FFET AT 100 AT

4, ST T 1000 AT

A Lod seore of 3 reprosents a Recombination
Freguency (RF) that is
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1. 3 times as likely as the hypothesis of no
linkage.
30 times as likely as the hypothesis of no
tinkage.
100 times as likely as the hypothesis of no
linkage.
4. 1000 times as likely as the hypothesis of
no linkage.

g " A, B C S D sl e it
AABbee Dd 7ot pa B Bec DD west & &1 siwor

Td

Lad

¥ AuBBecDd wata wwr #1 sfivwar goft
I, 4132 2, 3016
3 4 4. 3432

Assuming that the 4, 8 C and I} genes are
not |inked, the probability of a progeny being
AaBBecl)d from a cross between AdBbeeDd

and aaBBcc DD parents will be
l. 4432 2. 36
314 4. 332

v srasrer fareg Bt mrar o 7R wmE AB, RR
Firaat & vy firmr s & oy il 3eafer & fier
ﬂﬂ#ﬁﬁﬂ%ﬁw:nmmmmt}

. O, RA - O, Rl
3 AB, R 4. B. Rk’

The new born baby of a mother having blood
proup AB, Rh" and father having blaod
group O, Rh', got mixed with other babies jn
the hospital: The baby with which of the
following blood groups is expected to be of

thes-ﬁld cnu.ple?
. O,Rh’ 2 0. RiY
3‘. AB; Rh 4, B, RR'

Which one of the following DNA markers
can be used 1o distinguish betwesn a
homozygote and & heterozypote?
1. RAPD 2
3. RFLP 4.

AFLP
ISSR
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Which one of the following is a fungal
disease of plants?

l. Cucumber mosaic

2, Fire blight of pear

Crown gall

Apple scab

= L
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« Which one of the following influgnza A virus

subtypes caused severe avian flu and was
responsible for disease outhreak in the year
19497 in Hong Kong?

. HINT 2, HINT
3. H3N2 4. H5NI
e
I : T ..i'-
=" =g\
T Grolip X
. _._'-',‘g_.__ 0
=—=h
Group Y
— F
e e s
=g

T ¥ wrevy wr, Pl § & o 5 wew
it 82

|, #g X uarT g T g Y Sgeme
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4 =g X Tty 2§ g Y anerTe 81

Depicted below is a phylogenetic tree of
selected taxa;
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Based on the above, which one of the

following statements is correct?

I. Group X'is monophyletic and Group Y is
polyphyletic.

2, Group X is paraphyletic and Oroup Y is

muonophyletic.

Both Group X and Y are monophyletic.

Group X is monophyletic and Group Y is

paraphyletic

= L2

At & & sy Fr-BaS s it wgaw A

T T 2o £2

I, AT G i e sdt arew
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Which of the fallowing deseribes the identi-

ﬁ_caiion features of non-paisonous snakes?
. Cylindrical tail and small belly scales

2 Cylindrical tail, broad transverse belly
scales and 4™ infralabial scale is the largest

3. Flat tail, broad transverse scales and 3
supratabial scale touches eye and nose

4. Cylindrical tail, broad transverse belly
scales and & loreal pil between eye and
nostril
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S6. A road is constructed through u wet tropical
forest, Tollowing which the population of a
species of forest butterfly declines, Which of
the following is NOT a possible explanition
for the road causing a decline in the forest
bulierﬂy popuiation?

- Road facilitates immigration of gap-loving
species which compete with the forest

species.

. Road facilivtes increased movement of

individuals of the forest butterfly within
the forest, which reduces genetic diversity,

. Road imernally fragments the habitat and

negatively affects important micro-habitat
conditions for the forest butterfly.

Road facilitates invasion by non-native
pinnts that displace native host and nectar
plants of the forest butterfly.
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57. Which one of the following statements
regarding normal distribution is NOT
correct? -

1. It is symmetric around the mean.

2, It is symmetric around the median.
3. It is symmetric around the variance.
4. It is symmetric around the mode.
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Tropical regions may have more specics

diversity because of the following possible

reasons, EXCEPT

L. tropical regions have had more time o
diversify under relatively stahie climatic
conditions than temperate regians.

2. tropleal regions have high spatial
heterogeneity.

. greater biological competition in the
tropics leads to nurrower niches.

4 lower predation intensity in the tropics

allows survival of mare prey specics.

Frafofae & & sty sy e wdr &2
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Which one of the following statements is

porrect?

l. Ectomycorrhizal associntions predomin-
antly reduce phosphorus limitation, and
endomyecorrhizal associations reduce both
nitrogen-and phosphorus lmitation.

2. Endomycorrhizal associations predomi-
nantly reduce phosphorus limitation, and
ectomycorrhizal associations reduce both
nitrogen and phesphorus limitation,

3. Ecto-and ende-mycorrhizal associations
do not reduce nitrogen and phosphorus
limitation,

4 Ecto-and endo-mycorrhizal associations
are able to reduce unIy phosphorus
limitation,
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Which one of the following statements is

correct for the process of speciation?

1. Allopatric speciation occurs between
edjacent populations,

2. Parapatric speciation may occur between
geographically separated populitions.

3. Sympatric speciation pccurs within-one
continuously distributed population.

4. Sympatric speciation oceurs when
continuously distributed populations are
fragmented.

Which one of the following daes NOT
contribute to microevolutionary change?
1. Mutation / :
2. Randor mating

3. Geneticdrift

4. Natural selection

fire=a P & sy, ot fT = Refie
BT AT & ST rb > ¢, W@t b TAEHT w1
TR W WA A A7 w7 fet e e
r = 1 e s s &
1. wFrowrt sl s i s sl mpsat it
xR
st
4, GEIGEET T T AT S0 A I
HETET F A
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L

According 1o Hamilton’s. role, altruistic
behaviour can evolve whien rb > ¢, where b is
the extra benefit pained by the récipientas a
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result of the altruistic act, ¢ is the cost (o the

actor arising from performing the altruistic act

and r is the relatédness between the:

1. individual performing the altrufstic act and
the offspring of the recipient

2. individual performing the altruistic act and
the recipient

3. recipient and the offspring ol the
individual performing the altruistic act

4. individual performing the altruistic act and
the members of its population

s & R gEratT o iy ey E Reefty
s & fon i oot & & o wroor w7
SEwT T g E
|, srrsrerAT W g )
2. st o gemefrdy s & srsrema s
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AT &, ey vt & fiw ool
ma-ﬁm:rwm—:rrgi
ﬁﬁﬁ?rsmgl

_.ﬁg.nalyscs of nucleatide sequences of
ribosomal RNA (rRNA) are particularly

usefirl for evolutionary studies of living

organisms because of the following reasons

EXCEPT

. rRNA is evolutionarily angient,

. no free-living organism Tacks rRNA.

. FRNA, since eritical for transiation, cun
undergo lateral transfer amongst distant
species.

4. rRNA Has evolved slowly over geological

time.
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Which oheof the following is the most appro-
priate definition of *Geng Pyramiding’ in
plants?
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I. Introducing different genes for resistance
to a specific pest in different genatypes.
Introducing a single gene for resistance to
a particular pest in different genotypes,
Introducing different genes for resistance
to a single pest in a single genotype.
4. Introducing asingle gene for resistance to
miultiple pests in difTerent genolypes.
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To test the impact of cAMP on protein kinase
A conformation in  cells, an investigator
made FRET biosensor by fusing two
Nuorescent proteins at the N= and C-tefiinus
of protein Kinase A. In the absence of cAMP

in the cellular milicu, no FRET signal was

detected.  However, upon cAMP addition, a
strong emission at 530 nm was observed,
What could be the best configuration of
fMuorophores  that  were lsed by  (he
investigarar?
1. Green fluorescent protein (GFP) and Red
fluorescent protein (RFP),
2. CYAN fluorescent protein (CFP) and
Yellow fluorescent protein (YFP).
. Yellow Auorescent protein (YFP) and Red
fluorescent protein (REP),
4. Red fluorescent protein (RFP) and CYAN
fluorescent pratein (CFP),
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In bioremediation by microorganisms detailed

below, choose the INCORRECT oplion?

I. The organic contaminants provide a source

af carbon,

+'The bacteria do not get net energy by

degrading contaminants,

3. Bacteria can produce oxidized or reduced
species that can cause metals fo
precipitate,

4. Bacteria act on contaminants by aerobic
and anacrobic respiration,

T e T W s 3 @ e o
20 kDa 791 40 kDa w7 3t wizar Radr &
BT, S mr st G A et v 120
kD 77 vw vt Rt 31 Frfer vl o
?m'#ﬁr;mT
2. ReETAT
3, gEireTEmy
4 FE e

b

A multimeric protein when run onan SDS gel
showed 2 bands at 20 kDa and 40 kDa
However, when the protein was rin on a
native gel, it showed a single band at 120

kDa. The native form of the protein would be

. homotrimer.

. heteroterramer.

- heterodimer.
heterotrimer.

T A NADH stz NAD' E, 9t #t sfem
0mM &1 7 NADH 57w fammge fasis
6220 7ar NAD' =7 7w &, 57 5 mm v seare

. 0,62 062

o
3. 0,31 4. 0.031
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A solution containg NADH and NAD", both
gt 0.lmM concentration. If NADH has @
mokar extinction coefficient of 62200 and thix
of NAD" is negligible, the optical density
measured’ in @ cuvette of -3 mm path: length
will be

1. 0:62 3
3. 031 4.

{.062
0,051

wrfire e # weites Shra as () W

1. =t -t sroee & T w dnitsnr
BT

2. T tATee, foreT W o 8 uwe

3, wa dftr-Ffive grewe wa o Sve-fine
grese W s & e g

4 1w twrw, Fawray 9T www | 91 wiAEeE
vy i e AT # SYE R AT R, AT
PIGEEoRne CE-1a1

Orientation of a cloned DNA fragment (gene)

in & plasmid vector can be ehecked by
1. PCR using two gene-specific primess,
2. Restriction digestion with an enzyime that
has a:single restriction site withig the
cloned gene and mone in the vector
3. PCR using a combination of one gene-
specific primer and one vector-specitic
primer.
4 Restfigtion digestion with an enzyme that
has twe restriction sites within the vector
~sequence and none in the cloned gene.

wwwa@hmnmm

The emission maximum of tryprophan Mo

rescence in @ protein s ~ 335 nm. This
suggests that tryptophan.

is in & hydrophobic environment.

occurs in 4 helical segment.

has proximal cysteine residues,

is oxidized.
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3-A-H

18

i

Th

2.

r'ﬂ !

GET IT ON
Google Play

AT/PART- C

pH 4.0 797 pH 10,0 =T T & 05 5
WTTHAT S ST CEHTT AT T T g N T

pH Fvr e gre?

.- 70 2. 88

3. 6.0 4, &M

Equal volumes of pH 4.0 and pil 10.0
solutions dre mixed, ‘What will be the
approximate pH of the final solution?

I, 0 2. 50

3.0 4. 4.0

witAT  sew Igperr & dgewia Al
Wﬁ?ﬁaﬁ‘awqﬁ"ﬂwmh
wafl 3w AT A
mﬁ?mﬁﬂrﬁﬁzﬁgrr-rm
aaﬁzmﬁﬁ*hm

The inborn error of amino acid melabolism,
alkaptonuria, is dug to the lack of one of the
following enzymes:

1. Famary! acetoacetate hydrolase

2. fketoacid decarboxylnse

3. Homogentisate oxidease

4, E!_-flydmxyphcn}:lpyrmrt_!:_dt:h}_rdm;}-1_ﬂs¢

00 sfUET AT I rEe A s A fufen
qtmgﬁ T o w7 mﬁr—‘% ﬁ;}m s
AL R s e e s Pt Bew
B. mrm-t ftrs g Py Reer s

s afeam g

T arawa &)

D, B-wTe w s A s e i

Frurtfea it o mwefr £
VT AT T T AT AT
1. AwarC
BaaT D
B ¢
4. AT D
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73.

74,

The structure of a protein with 100 residues
was determined by X-ray analysis @t atomic
resolution and NMR  spectroscopy. The
following observations are possible,
A. The dihedral angles determined from the
X-ray structure and NMR will be identical,
B. The dihedral angles determined from
the X-ray structure will be more aceurate.

3. A (), B—(i); C- (il D-(il)
4 A (i) B (i € = (v D=(0)

75, Ffire smafies gt ¥ wfre =2 w oo

2

C. B-tums can be determined only byNMR. TR
D, [i-sheets can be more accurately A. | wmismoa () | =wts

determined from the X-ray structure,

Indicate the combination with ALL carrect
answers '

I, Aand C 2
3. BandC

Band D
4. Aand D

ﬂmmﬁ‘ﬁﬁq‘gﬁﬁfﬁmaw
Py a1 R st # dag A i

B. | it AT [(i1) | e v
C. | whetae |Gi) | meynes

D. | freifamr=r  [(iv)

ForseFarfir & i sy,

e L A = (0% B~ (if): € —(iit); D - (iv)
=y : 2. A = (i} B—(i) C —(iv): D - (i)
AL mﬁﬁeﬁ-r RE .,,7 3. A B—(iv) € - (i D - [i}
B. | wfawwz | (1) | 74 S & A~ (iv) B—(di); € — (i) 1~ (i)
C gﬁf’fﬁ (i) mf 75. Sun:r.- :n?zym’e?rthmh SeTve a5 transient
f D T = ‘carriers of specihic choem FoETOUpS  ane
D [dtwmr | (V)| myeviting O el e
ikl i qﬁﬁhﬁ" Eben:}mc Chemical group |
LoA=(ith B=(v}C=(D; D —{_H_I}_ transfered
2, A=(ix B (i) C - (iv) D —{ii) A. | Cocnzyme A i) Electrons
3o A (B~ (i €= (b (i) B. | Flavin adenine [ (i) || Acyl groups
4o A =il B~ (i) € — (vl D - (i) | dinueleotide , ,
. A C. (iii) | Hydride jons
74, The different drms inthe tRNA structure are __.| phosphate _ :
showsi in Column A. The specific signatures D. | Nicotinamide |{iv) ' Amino grogps
in Column B, dinucleotide
COLUMN A COLUMN B Choase the combination with all correct
A | Acceptor | (i) | Dihydrouridine miatches
i 1. A ={i); B — (i) € — (iii); D = (iv)
B. | Anticodon (i) |7 bp stem and 2. A =iy B— (i) € = (iv); D - (iii)
& [voum i) ?E;;igm 3. A= (D B (k- C— (1 D - (1)
D, | D-am_|Giv) | Pseudouriding A A= (v); B—(iif); C—(i); D~(H)
Choose the correct matches from the
following:

L A—(iin B=(iv); C (i) D-C(iii)
2. A=(i} B~(i) C—=(iv); D=(ii)

3-A-H
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Th. TTE TAAT G ATTTEATARAT 1 AT T rhiatches
mf‘ ¥ o i fn Lo A= 00y By C = (vl D =(1)
-0 2, A=y By c—{inD-v)
8 3. A - (i B - iv) € — (i D - ()
fﬁf 4. A ={iv): B (i); C = {ii]; D= (iii)
3
gﬁ 7. ﬁ?ﬂﬁm#mﬁqﬁm A
§=;= wrfarTaTt 3 STEET W St ST S weat
gg (T 1) W oy T
g3
- 100
[ A
W i At (e X) Av g Fre o TR (ﬂmﬁ‘ﬁaﬁﬁrﬁ%ﬂ
(Wtam Y) AR R A & | mﬁ@évﬂ&’m
| S IS BT HTG
S __ ¥ b IgETBIGE! | [n}ﬂ?ﬁf-‘-raasﬂm'sa
A_| () rpfts o « F5F uu]ﬁﬁ%%ﬁiarrﬁﬂ*
B. | (i) 3w qgnft wredt sowar , U 2 T
C. | (iii) wferm it | A
2B HOL LA R 4G () ﬁ#‘m-a-rsr{%f
Frwfafira & & g gfm 7 Frafirfire 3 & giey gfm:
I, A =i} B={iil); C-(v); D=} 1. a—(it); b-({@); c—{iv): d={)
2, A~ (1)B (i) C—(H) D—(v) 2. a-(i)): b-(iv); e-(iii); d-(i)
3. A~ (i); B - (iv); €~ (i D - i) B2 S UM DOR): em0) 5iga
£, A= (i) B—{i); C~ (i) D—(iD f.a—(iv); b—{il); c—{(if) ; d-(D)
, e 77. Table below shows the list of organelles
76. Thermodynamics of protein folding is (Column A); dnd the signals (Column B) that
depicted us a free energy funnel below: target proteins o the organelle.

A B
4 ysomome ') St.rcl:h of amine acid
mqutm:c ;:ich 1t Lys ‘el

UOREWLIOCI BAIEH U] =
urdaid jo alejuacia

.!'ug miduas
b. Miwichondria (i) C-terminal mipeptide
¢ Nocleus {iii) N-terminal amphipathic
L 100 helix rich in Lys and Arg

d. Peroxisame (v) Mannose-b-Phosphate

Given below wre regrions in ' the diagram : ) - [

{(Colwnn X) and their representation (Columna (“‘:I;jn;g;mc SptiGn that siows all sorect

Y) . a—(i); b (i) c=(iv); d—()
v -— 2, w=(i); b=v): e—{{i)y d=(i)
—— - 3. a—(iv): b-(@il)s e=@): d-(h)
(i} Native structure 4 a—(iv); b-(ii): e~ (i)y d-(0)
(ii) Structure with highest entropy
(iii) Molten globule

(iv) Discrete folding intermediates

o|0 (>

Chipose the option that shows all correct
3-A-H
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A. 3500 ¥ Ravsity St s £ g
ifwr#u‘ﬁmﬁrﬁma%?ﬂsm{a‘
"ﬁcﬁmﬁmmﬁl

B. =fwars ¥ faera i o Rl
ﬁﬁﬁwﬁm%mﬁﬁﬁm
T 0T SAATET Wt AT e ot

C. stz wrataweee vx fAwmda o o
Rt Bty wfiom &, Gt vivfr
STHVEFAT WEl 2t 2

D, aﬁ'-rf%m-rfrﬁ‘ﬂwm AT AT
ﬁﬂzmﬂwm%mﬁﬂwﬁmﬁa
T A

#ﬁmﬁnﬁﬂmﬁwqﬁq
I o A,
3 A, B:D -L B

Foliowing statements are mace about

chromatin remodelling in human cells:

A. Loeal chromatin eonformution may
play mare important role than the locil
BENA sequence of the promoter.

B. Histones in nucleosome can undergo
many different covalent modiGicitions,
which in turn, alter the chromatin
architecture locally,

C. Chromatin remodelling is a develop-
mentally regulated passive process
which does not riquire ATP,

D. Several histone variants exist, which
replace theStandard histones'in specific
tvpes of chromatin, —

Select the aprion that hag the combination of

all correct answers,

I AJCIB

I ABRD

T WA 3, ﬁ?:rﬁammﬁ?rnﬁmﬁmﬁ
Fifowrad wrvAn R & s e
s mow saoret 0w g B
ST & WO FTe vy a1
e rar i Fry s s o i
GLER B e e S SR IR E i p T
12571 5 77| e g s 8, &7 o
FEror S ST AT S
Afrr swem 3 wart wmwAT % oasw
Rfarer w1 wffs fon, B s
ﬁﬁ%ﬁtﬁﬁwﬁwﬁﬁmﬁaﬁﬁ—
By % sreer gfe & e apeerd 3
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. Fmrer sy e s AT A
FAAT i, AN O 5w e erwfamptaey sy
o T &

C. o Fraror st it o 9y S
Fever Ry sirevrer ¥ R
Y TR 2)

13 By sreeis waw & e Faw ot A
it sufie s & 12 e R
TITATTEST 5 wET ST A AT

Frafatim Bt & wft w5t saAt s frwer

l. A Baar C 2.

3. A BTmD

A CanrD
4 B, CwarD

. Inan experiment, the student has infected

mammalian host cell with cytoplasmic RNA
virus. The virus growth was moritored by
measuring the intracellulir viral RNA at
different time intervals. It was observed that
viral RNA titre progressively went down with
fime, particularly 12 hours post Iﬂﬁ!l:llﬂl‘t
F{ﬂlnwmg are few possibilities whlch

-i:xphm this observation.

AL The virus infection triggered upregitlation
~of miRNAs that might have downregu-
luted the host factor critical for viral RNA

replicarion.

(B. The virus might encode miRNAs that

regulate (inhibits) its own replication.

€. One ofthe viral proteins inhibits
replication of the virsl RNA 1o restrict
rapid profiferation.

B Virnl RNA goes to nucleus with time.

and thus not deteetable in the cytoplasm
12 hour post infection,

‘Which one: of the following options has all

correct statenonts?
. A. Band C 2, ACand D
3. A, Band D 4. B, Cand D

- AT P e, o v X

ot FEmfre s i e o & afiw
a7 T £ IvE a3 B Pt
FemfafinTt 3w ot ow s medmor ne
FAt 87

b v e srsiEes d a ey X

fh?qﬂwrfﬁrwwmzmnﬁrﬁ
75 ot firereftn e v dae e )
. et fafire sferfe s Yoot i
7 T o ot 1 At st e
HEPS AT 75T T

T


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal247

80,

81.

81,

zErrie wear 8

irrespective of the chromoesomal configure-
ation, o single X-chromosome remains
active in @l diplpid human somatic cell
lines. Which one of the following
mechanisms 'best pccounts for ‘the above
phenomenan?
I. A maternelly inherited X-chromosome
is developmentully programmed to
remain active hy avoiding DNA
methylation;
Chromaosome specific expression-and
binding of rox1 toneiof the X-
chromosomes protects it from Xis
medinted silencing.
3. The T-six gene produces just enough of
the Xist aftisense RNA 10 block one
Xic locus,
4. A ecell produces just enough of the
blocking factor to block one Xic locus.

i'-‘l

et sifierst O, e @@ ®
Wﬁwnﬁwrhﬁﬂ
A7 AT & AT ow-sEer HEreua (CDKs)
mm*m%wﬁiﬁn
wgwwﬁmmm
{m%mwmaﬂmwm
afigw G, ¥ g S TETF
mmﬁmﬁmmsmﬁ
B A A ST SO w1 F
giesfamor G § Sy w4t grar g it
A. e g G ® ffw e )
B. &% T Gy § At grar 8
C. S aretirew Gy 7 Frper =487 g 21
D. sirreft rear grees 5708 Cdeh mam Ot

G it wfiepRe F sreere s # i

Fhorg i o 3 1 8
T 3 A AT A g

l. A7aT B 2, AT C
3. BT C 4. BTAD

In eukaryotic cells, replication initiation fram
a replication origin occurs only once per cell
cycle and S-phase CDKs play a vital role in
the regulation of DINA replieation. o budding
yeast a protein complex known as: the onigin
recognition complex (ORC) is associated with
DNA replication origin during: Gy: however,

3-A-H
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origins fire only once at the beginning of S-

phase. DNA replication does not start in G,

becalse: 2

A, MOM helicases aie fnaotivein G,

B. Spindle checkpolint is active in G,

C. DNA polymernse is not recruited in GG

D ORC and initiation factors Cdes and
Cdtl donot recruit MCM helicase to
the site of replication initiation in G,

Which of the above statements are correct?
I, Aand B 2, AandC

1 Band C 4. BandD

oty Pl & nffee zefifin fr = S
g g oo Bafs § g ofiew 5o ww &
mmwﬁwﬁww#wwﬂ
awd 3 oy Befr # fabh Reffe &
"mmm&mﬂfﬁ%

A. stRefer ot sferseree sww e § Ande
T v o St 7 arEmT £
B. fﬁﬁaﬁﬂwﬂvwvﬁﬁwmﬁﬂ
v iy & she i e W e wo
- _
m':‘r
D qﬁfﬁwwﬁﬁﬁﬁmﬁam

TN T

LT A A A AT A T 2D
I AzrD 20 ATarC
i, CTarD 4. ATarB

Meastrements of the mate of actin treadmilling
in vive show that it ean be several times
higher than can be achieved with pure actin in
vifre, The treadmilling in viten can be
enhanced by providing

AL profilin that binds G-actin on the site
opposite the nucleotide binding clefi.

B. cofilin binds specifically o the ADP
containing F-actin and destabilizes the
actin filament,

C. buffer with ATP and low levels:af
catians,

D. ' buffer with ADPand low levels of
cations,

‘Which of the above statements are correct?

l. Aand D 2. Awand'C

3. Cand D 4, Aand B
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83. wm £ Frn T T A, lae BT trp FIA W A1 A, wlrrfaT w1 s Fre sgree E

B AT T ATES TEW frp ST T AT S AT &

ot | moars | TPE, B PC tpD A TTT T 0 e 2 o W

" Trp huerlynlluilc ms m‘q'ﬁ #H ﬁ‘f-“ w2l

#ﬁﬁmﬁ,ﬁhmg Lﬁmaﬁm?ﬁ?ﬁwwﬁm%

ﬂﬁm ~ y Wmmh“ mmﬁwrm%:
Hmwmﬂmﬁww% D, FrftsreATTeE | #y a1 e

S| gﬁ?ﬁwwtmmﬂﬁmﬂ?ﬁ

T ARt 7 E & - L
FHUE dene & =R Ry wrmr v frwfafi # & mit wf s s fEer e
. AwgT B 2. ATrC LA B, C
3. ¥R C 4., BAaiC 2. AB.D
JAC D
B3, Inasbain of E cofi, 8 Tusion betwioen the fae 4. B, CD

and frp operon took place and the new locus
strugtune is showm balow. The strain lacks the
wild-type trp operon.

Given below are some of the potential

84 Following stalements have been made about

removal of supercoiling produced by DNA
unwinding at the replication fork:
A SAcdumulation of supercoils is the result of

BINA hélicase activity during unwinding

| (pE  tpB  pC tpD. ﬁsﬂ i) of DNA
i 1 . Trp biosynhietic genss B. Problem of DNA supercoiling is valid
i anily for eircular chromosomes of becteria
seenarios:

A. Tryptophan will be synthesized in a
medim eontaining |actose and

B. Tryptophan synthesis will be repressed
in & medium containing ghicose.

C. Tryptophan synthesis will take place
only in the absence bfsufﬁﬂim!
tryptophan in the mediam.

Chooze the option that correetly deseribes the

behaviours of the fusion sperin,

I. Aand B 2, AandC

3, Conly 4, Band ¢

. Fwfafes, o wEsfeor R w feen

ﬁgﬂmmmﬁaﬁﬂzﬁﬁa‘gﬁ%
=1 7 A e o

3-A-H
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and mot Tor the 1inesr chromosomes

- Stipercoiling of DNA TS femoved by
topoisomerases by breaking either one
or both strands of DNA on the
anreplicated PINA in front of
replication fork.

D. Both topoisomerase | and topoisomerase 11
CHN reMmoVE pasitive supercoiling during
replication

Which ose of the following options has all

corrsct statements?

1.8, C 2 ABD

B.C D
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Fromae fAiEdT § Ser 51 fRafr uw
farfna? - a-rowe w weRfeieor ow
wernftr ffaT wew SsrfuezB § pewwor
il ST AT 8w gy

1. wrfirmiaa 3 A= meETE ¥ s
w1 Afer s & By o ardt &

2, UHATUAT AW I Ao & g 5
ATH W RHE (JHUIE) T A v
TSI ST W Al e &
ATHT AT &),
oy e wFraef srrersaT B

4, TEW ¥ ITEE GTOOW OWATOAT T RATIAI

Phosphorylation of the a-subunit of el F2 at
Ser 51 position in Secchuromyces corevisige
leads to sequestration of elF2B, a guanosine
exchange factor. This phenomenon is
1. known to activate transtation of the
capped mRNAS in the cylosol
2. known to activate transtation of many
key mRNAs possessing short ORFs
(UORFs} in the mRNA sequence that
precedes the main ORF
.- an essential requirement for translstion
of IRES ¢ontaining mRNAs
4. an essential requirement for the transport
of maturemRNAs out of the nucleus

s

it s & o fy o £t

Frafrdt st % Fraferf ant o 2ot 8
A fﬂcfiﬁﬁzﬁﬁ?ﬁﬁr
B, lacZYA TSI W WA T
e & v sware W B
C. laeY 5 safire =1 53 57 By
D, lacA ¥ sifirm av g 57 By

lac sroem it e wiveefy o ofrmfie 505
|, =TT A et B

2. s BEEC

3, 9t C

&, A

£ coli mutants jsolated from a genetic sereen
showed following classes of mutations
A. Point mutations in lag!
B. Deletions immediately downstream of
the transcription start site of the lacZ¥A
mRINA
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C. Duplications of part or whole of e
B Duplications of patt or whole of lacA

Choose the option which is likely to result in
constitutive expression of the fac operon?

I. Both Aand B

Both B and C

Both C and 1)

Only A

T FNTE et S e
% o, FRrwfafie & & S wreer w20

. Sttt | S s &
A sreva e ot &)

2. wfit st grer dhr ofsdeyy | S
oA afaptreTt § B e § e
¥ iy ray v, feaft fraw
wﬁﬁ‘«m?ﬁﬁrmﬁﬂﬂmﬁrﬁ{ﬁu

3. Froam it | # srrwar S
FHTT % T ST SreUAT T
F279 ol T AT IR A EhrrT  ww A
wafuE 2

4, i ot | e s g
g Eve # e # o e ey
#

For Eachérrcﬁm cofi chromosomal DNA

replication, which one of the following

sramrnm:s is trye?
. DNA polymerase | is the main polymerase
required for DNA replication

2. DNA palymerise | though identified
originally by Komberg as the one
mspmsrb[e for repliation, is not important
Fnrtha DNA replication process

3, Requirement of DNA polymerase | is in
the context of remaoval of RNA primer
nevided for DNA synthesis, and then fill in
the same with DNA equivalent

4. DNA polymerase | is the primary enzyme
for error prone DNA synthesis in response
to SOS

o Ted Pl
s . i

. Bwfafira o gefrafor =t & Faiet 5

wen st & o & faw an &

A. T gt T At O
srpTforE sftadt F maffteags more &
Fgeft fafawmr zof g &
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D. 9ffeirer 3 agere e et ff
37 et §1

- Mgl
A, B,

Following observations were made about
variations among. genomes. of  eukaryotic
Organisms:

A. Single nucleotide polymorphisms are the
numericilly most abundant type of genetic
vitrinmts

B. Both, interspersed and tandem repeated
sequences can show pivlvimorphic varintion

C. Mitotic recombination between mispaired
repeats causes change in copy number and
generates minisatellite diversity in
population

D. Smaller variahle segments in the gename
can be identified by paired end mopping
technique o

Select the option with all correct statements

I, A, B, C . ACD
3 Be D d, A, B. D
s Fafire S wdt s st sfioar
wﬁrﬁmmﬁﬁ#mi‘wﬁiﬁamxﬁ
#owfoer st st € sl mar s ¥ 3
st sratons sevn R &
A X wER Y iy
A wforer | (i) o 40 o o Ftomeren
TE sl et o arrar £
AR St wrfermrs ¥
Ffmm T
AT AT &
B, #4128 (i) T & | s
Fwar § v
Tt Fe ATt
T Tt &

3-A-H
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(iil) &t =iy v o
graft 7-1, 2 vt
BO/R6 & dumT &, vF &
&l

(iv) o B3rwinrens
TS # aAr S A
FHy T 6
TIATT=TE e 7
a7 gl

C. g

. #1549

fafatas & & wft w5t spr e faer o
AT H?
A=) 3 B(ii) y € = (iii}; D= (iv)
2 A—(V): B-(i) 3 C—(i)) 3D i)
30 A=) B—(iv): C=(D) D (i)
4 A—(iv): B=(iii)s C={iD) : P-(D)

9. There are number of specific T cell surfice

molecules involved in various functions of
hdaptive  immune  response. Column X
represents 3 list of T cell surface molecules

- and Column Y’ with the possible functional

chatacleristics:

Column X Column ¥

(i) binds to CD40 on B cells
and APCs and trigeers
activation of APCs and
activition/ differentintion

_of B cells.
(ii}binds 1o MHC class |
| molecules mnd restricts T
cytotoxic cells 1o
recognizing only peptide
presented on MHC
class 1

receptor

| B CD2E

(iii) binds: w B7-1,2 ‘or
CORRG o Beells and
APCs, which triggers T

_cell activation, |

{(iv) consists of Iwo poly-
peptide chains o and
and some consist of poly-

!I peptide chains y and §,

C.CD8

D.CDI154

Which of the following option has all correct
matches?

A=) : B=(ii): C-Gi): D-(iv)
2. A=(iv); B-() 3 ‘C-(i);: D-GiD
3 A-(ii; B-(iv): C-() : D-Gi)
4. A—(iv): B(iiiy; C-@i): D (1)
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a1.

wifostt & (FProfm sawt g #)

Teafafiray &, &t B Tor somew o ame S

=ufar &1 FeAtaiior g5 dwraand § a9 39

T T ST AT 8

A T T FrrE e A s
s wRsETAT 3 U TR 5 g 21 g &

B. o zerfrads write e siwer W ag=aAT R,
TR T T AT

C. T THETIAT ® T 3T e
m?rmmﬂwgmmmmmr?’
HEEEEY WA ST FEAT 2

D. #7a TS § 0F sty fde
FTIAT § g T SaT 5

wyTfirer $7 FETAT 2
frwfafirT 7 5 39 o7 e d@aras tfes wdte
T i T A 2

. A,BTar C 2, B,CwarD
3. C, Dawr A 4. A.BmFETD

In an experiment it wwas observed that &

protein was upregulated in the cancer tissues

(compared to control tissues) that showed

correlation  with  disease  progression.

Following are o few possibilities which éan

explain the @bove observation.

A A mutation could be located in the 3'UTR
of the corresponding mRNA at a miRNA
binding site,

‘B, A mutation changes the conformation.of

the prﬂwh, resulting in its better stabflity.

C. A mutation in the corrésponding MRNA
promates ﬂbmume 'l‘éﬂﬂ-ﬂrmugh of the
termination eodon resulimg in increased
symhr.sti a!‘ﬁw protein,

D. A mutation in the cormesponding mRMNA
increased the stability of the RMNA due to
change in secondary structure,

Which one of the following combinations

represents the most likely explanations?

L. A,Band C 2; B.Cand D

3. C,Dand A 4, A,Band D

arppEiE 4 | st A S oréte i
£ forri wrefier o7 o7 2z spivr g9 8, wAw
spr s Afwr spst s S AR TRaT
fom fafire wus =1 g o7 &) =w oA ¥
difta ffw & sz ol siiwnr ® o g
AT A ATTETA 39 OB TW YW W setaie
shmfEm 2w ofw wreEmfer &
Frafafas At & 717% WAy = A '

L7

 3AH
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{. e it TRTSRTATATE AT Wil § TS
AT £ e s Il A T et o
Pro syt 21

, g A qierrETs e & AT £ B e
AT AN STEEeRes

3. AR ATATH W, FWAT 50 FTOEET T w=A

T s ot St & e wf frfioy
FTCATATNE THOT ST 60 7o 07 oy Speperat
wt e 7Tt & e s A A

4, FTEATATHEA TR SIESET g9 6 wre i

A= W TieaT 81 wwn AW b SRS
SAFH T HEAAY TerTy wifdeet fr
TRTZATA 2T ATEw 3 WA W IR
HEAT T}

I

The exirgoetlular malrix conteing n number
of non-collagen proteins that typically have
multiple domains, each with speeific binding
sites for other mutrix molecules and cell
surface receptors, These proteins thérefore
contribute 1o both organizing the matrix and
felping cells attach 10 it.  The most well
eharacterized matrix protein of this kind is
fibronectin, Which one of the following
ﬂmdcrlslia is NOT TRUE for

1. It is a large glycoprotein found in all
wertebrates and important for many,
cellématrix mteractions.

2.. It is composed of three polypeplides that
are disul fide bonded into a-crosslink

3. Inchuman genome, there is only one
fibronectin gene containing about 50
‘exons, but the transeripts can be spliced
in different ways to produce many.
different fibronectin isoforms;

4. Fibronectin binds te integrin through
an RGD motif. Even very short peplide
containing RGD sequence can inhibit
-attabhmenl of cells to fibronectin matrix,

st At (s YY) F ot Sk &
Amfimarmrea- - | (1) sEwiidT oy
WA T e ATt S
AT FEET SLE
YT T
Fay & mar Fira @ ‘
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| B, zreEr ot

| €. #Frhre ara

| 3!1';!'.':'5. m‘ﬂﬁﬁﬁ

By ” iy
ﬁ"mmffr'fﬂﬁmr
Wﬂ?m
T AT 2T £

Srmrter i 2t wrE A AT £

. A-{i)s. B (it): 'C=i(iif)

2. A (il B -(iil); €= (i)

3. A=(iii): B-(i); €-(i)

4 A= Gie B (i): G- (i)

Following are the list of some cellular receptors
(Column X ) and with possible Tunetional
characteristics (Column Y):

ColumnX Column Y

A, Asialoglyco- | (i) Intracellular high affinity
profein receptor which upon
recoplion binding with leand acts

as transeription factor and

pindsto DNAL

B. Transferrin
receptor;

(i) Extracellular receptor
which upon binding with
ligand issubjected 1o
endocytosis. Receptor-

3-A-H
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ligand complex
seoumulates in acidic
endospmes/CLRL
{compartment of
uncoupling of receptor
and ligand), delivers:the
cargp, receplor- Hgand
complex reoycles ’E:ap:k 10
cell surface and the ligand
disassocinies,

C. Sternid
receplor

{nil)Extracellular receptor
which upon binding with
ligand is subjected to
endocytesis. Receptor-
ligand complex sceums-
[dtes in acidic endosomes!
CURL, ligand gets.
dissocmted, transfers 10
lysosomes and the
receptor recveles back 1o
cell surfpce.

93

Which one of the following is the correct
mitch?

1 .ﬁ (i B=fiy: C=(hH)

— i) B=(FHiYs . C=11)
3_« "Eiii} B- (@) C—(i)
4 A= Mi)s By €=

msﬁmm#uﬁmmﬁﬁﬁmﬁ
: B it =rmerfty s s1frer
ﬂﬂﬁﬁﬁwmi T TE I AT
siwtars fimT T T T ar R @R aom
st B A (2 s Bt e
Ty a2, A7 Frer 13 e wafera e ety
T T W o e R BT e wwsnad
- T - T i W0 M
WTAT &, AT FTAT (AT ST W HEA A T
mm X odE YW AR W g, W
fnmy & wier # wpfrzregr aer §, Fefafae
A, ‘Taam A°, X" St avdt F9T Y ST we-uTat
¥ = H AT AT 2
B. ‘fmre B, waw & g Fy Y ST O w
w1 ¥ AT FEAT £



https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal247

93;

94,

C. ‘fawmy A* = *Fammr B 2t % Fro ot &
= H X A )

l. A, BT C 2. A=TarB

3. BaarC 4, AT

In & laboratory experiment it was observed
that both *Virus A" and *Virus B® could infeet
a mammalian  host cell, when infected
individually. Interestingly, il the cells were
first infected with ‘Virus A® (with larpe
MO1), Virus B failed to infect the same cell,
if the Virus B (with large MOIT) is added first
followed by Virus A, both the virus can infect
the cells. However, infection with *Virus A
was found to be in lessér extent, Cansidering
X and Y are the receptors/co-reeeptors which
may be invalved for the virus entry, following
are few possibilities that can explain the
observation,
A *Virus A" uses “X" iis veceptor and Y

as. coreceptor,
B. *Virus B' uses exclusively 'Y as recepton

for emry,
C. Both *Virus A" and * Virus B? need X

as receplor,

Chovise the option with all correct statements.
. A, Band C 2. AsndB
3. Band C 4. Aand C

Fr it F ¥ ol ® S o

T W w2 wtr, S

KUBEE A cE e 8 i T AT A w
W e e A e 3 o 8 fremdt
A wreft Sfirer o g e e
TR gt Wit 3 s oA
g e 1 it ok o
B. @i & swasrrersaT vy st a5
=TT #t (G, ST i of)
C. Foarw ezar wrfirs AYRret % wamat & uf
Wﬁf#mﬁq#ﬁi%m;ﬁ
0. & ¥ yedradie awrey §
Frafam 22 st auvaratfimer fonares
WY 3 FE
Frffir st ¥ #9tm § 7w of 6
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1. BagrC 2. Amare
3. B 4, AT B

While testing the effect of sevéral patent anti-
cancer compounds on cycling human oral
cancer cells, a student observed that a major
percentage of cells showed dose-dependent:
cell death after 12 hours of drug treatment.

However, the remaining cells repopitlated the

culture dish once the compounds were

removed and the cells were cultured in
complete medium, The student made ihe
following assumptions:

A. Not all cells were equally affected by the
compounds as they were not synchronized
bufore reatmen),

B, The compound ' selectively killed cells:
which were in G, phase.

€. The cancer stem cells were impervious
to the effects of the compounds and

therefore repopulated the culture.

1. The cancer cells differentiated into 4 mesen-
‘ehymal phenotype and grow in fresh
eulture medium containing inhibitors of
epithelial-to-mesenchymal transition (EMT).

Which one of the following combination of

assumptions would best justify the resylis?

|. BandC 2, AmdC

3. Band D 4. AandB

Tt # gawg B s & mar sk e §
HaTen A afx wmar o wmmr 8, @F were
R v sfiEa e s a

THA T AT E

A, AT w7 By wrae Rl ot
“aufar &)

B. = Fws wwe afifrafiosr i
5 T
wﬁnwmﬁ&ﬁmﬁzﬂfmir

D.-dfFwres w1 fwmr i Rafuesr

?T"ﬂT‘g:

15 A Tar B 2, Bawr'c

3. Cwmard 4 AmD
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8-cell embryo of tunicates is separated
into 4 blastomere pairs and allowed to grow
independently in culture medium, then' éach
blastomere pair can form most of the cell
types; however, cells for nervous system are
not developed. The following statements are
formed from the above observations:
A. Nervous system development demon-
strated autonomous specification,
B. The other tissue types are formed due to
conditional spectfication.
C. All the fissue types, except nervous
tissues that developed, demonstrated
autonomous specification.
D. Nervous system development demon-
strated conditional specification,
The correct combination of statements that

explains the abave result is:
l. AandB oL

3. Cand D 4,

Band C
Aand D

T @ dut F Ber ¥ ofow, af fnder
TRETEAT AT (rEar) ger faw wmar & A
o= w1 Fem W= g wmEr 2 WA ATw, mm
wﬁmﬁﬁaﬁwmﬁmtﬁmﬂa
Py s & oY g vy sresmTd g A st
Fret e Prfiv 2 arrdt &, e aft re Aot
wiare ¥ Y fromre woiEs gy Renfe 5
At e, it whare w3 2 s 1 ww watar & B
A. T g it v ot 2ty o
FEAtET Tt
B. mﬂﬁmmﬁﬂmmmﬁ
T AT TR
C. w¥are g ¥ Rfirdtsor R st
& Ty g%
R % f st
icd
IO FAT T T A7 A i gy g
Ty 2
|, ¥ A, B, Caar D
2. Fa A, B, Dwar E
. FC DA E
4. ¥FETATETE

During wing development in chick, if Apical
Ectodermal Ridge (AER) is removed, the limb
developmient ceases, on the other hand pIni:lng
leg mesenchyme directly beneath the wing
AER, distal hindlimb structures develop at the
end of the wing, and if limb mesenchyme is

3-A-H
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replaced by non-limb mesenchyme beneath
AER, the AER regresses. This  may
demonstrate that:
A. the limb mesenchyme cells induce and
sustain AER,
B. the mesenchyme cells specify the type:
wing or limb,
C. the AER is responsible for specifying
the type: wing or limb.
1. the AER is responsible for sustained
outgrowth and development of the
Hmb
E. the AER does not specify the type:
wing or Hmb,
Which combination of above statenients is
demonstrated by the experiment?
1. A, B, C and D only
2. A, B, Dand Eonly
3. Dand E only
4. Aand E only

STARITRAT ¥ geftw/srereia spst fF gerhy o st

A TR AT SVET %2 & ATy W g
Ww%aﬁwnmﬁﬂr

C. 7%= T2 Hvew 7 wfier grar § aar 209

S Wi R i i wfi S )

D mﬁﬁ#gﬁwﬁﬁﬂwﬁﬁmmwwt

E. #13tm  Syaw sriaen qdm wrfEver Saw
FTAT &, T AT 57 AT g

wgﬁmﬁtﬁwﬁﬁa‘mﬁﬁwﬂwm
qE g7

. Amar i 2. CaarD

3. BT ) 4 BaamE

The following statements regarding the gener-
ation of dorsal/ventral axis in Drosophila was
made;

A. Gurken protein moves along with the
ooeyte nucleus and signals follicle cells 1o
adopt the ventral fate.

B. Maternal deficiencies of either the gurken
or lorpedo gene cause ventralization of the
embryo.

C. Gurken isactive only in the ooeyte and
Torpedo is active only in the somatic
follicle cells.

D. The Pipe protein is made in the dorsal
foilicie cells.
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E. The hichest concentration of Borsal is
in the-dorsal cell nucled, which
becomes the mesoderm.

Which ofie of the following combination of

the above statemoents is true?

1. Aand E =

3. Band C 4,

Cand D
B and E

At oy fafie o smaeft 9 %

Ffms 5 wor &5 21 dearft Rem @

s forfertor et 31 7 67 B e 57

1. FTardt & =7 T 70 %7 7wq 8 WA
iR & et A w6y e ar

2. & urftr 3t grewrer 5 w5 Frewnmr
nfize dt sty 7 T 2

3. & ursEw EreTET & ware off Fwe Tt
w8

4, stwordt Bwest ff Bersreram i
meﬁammm#
Bt &

A specialized area of teratogenesis involves
the misregulation of the endoerine syshm
Which one of the following stalements
regarding endocrine disruptors is true?’

1. They can act as anlagonist and mhahﬂ

the binding of a hormone to its receptors
ar block the synthesis of g hormone,

2. They do not affect the synthesis, elimina-
tion or transportation of & hormane in the
body.

. They do not mimie the effect of natural

4, Low dose exposure to endocrine disruptors

is not sufficient to produce significant
disabilities Jaterin life.

‘b

W#ﬁﬁﬁ"!‘i

PO e e
ind FEprvataat 3 Tret T AtaT W
E AT B

B. FraATaz wifoner yay (fref o & w5,
Tt e e o et S st 2

C. et s Ffrdt ot e s % e
3T AT & AWT AT @Ewt g ARl [ g

0. wrferwrTt a7 i e F sfterar &
T STAFaTs 2T T s e

3-A-H

30

17188

100.

GET IT ON
Google Play

PR st T & S i §ate sy e Ay
LA CTan D, 2. BForE
3. A Baar 4, Cwar A

Giiven betow are statements related to different

aspects pf plant growth and development.

A Leaf longevity is inereased in ethylene-
insensitive mutants etrf--and ein2 of
Arabidopsis,

B. Programmed cell death (PCDY is:responsible
for the formation of prickles, thorsand
spines in plants:

C. Senescence and PCD occut only in'the
dievelopment of veaotative tissies and
does nat oceur in reproductive tissues.

D. Redifferentiation of organelles isan
integral component during initiel stages
of senescence in plants, -

Which one of the following tepresents the

combinntion of all corredt statements?

I. A,Cand D 2, BandC

3. A Bad D 4. Cand A

Frafafs swafen Ber ofe & Wl o
mut & a1 smF & v e Ao
uy At ZrTERTR wwar Siatte gifieer AuE
(ST & = & ity a7 iP5 &

MORULA
1

Nanog) 7

=T o T T, PR S
i AT AR )
1. Cadx2 3 Octd i Fisr arararfiogr aridr
& Fatr 7 warfre s 5t 2
2. Octd #t shverlsr Frapavfos $07 & aags
3, arwmft e Fréwdt 4, Cdx2 ¥ 3vdmars v2m
4. Swa3 it whrsrfy srfoe *
T HTAH T AT AR 2

{éﬂml};}

The following demonstrates proposed functions
of different genes which determine the decision
to become cither traphoblast or inner cell mass
(ICM)  blastomere  during carly mammalian
development:
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MORULA UM WA 67 I AT ¢ e
i ‘ ARSI W7 A
TROPHOBLAST H:H -ﬂ’Esc B, SFTEA TEIW SRS W T G
(YARY e a{*x / s wATE D g i it wer
(TEADA) == Statd) : £ 73 !

T ST AT 8, AR AT
qfedae w1 ST T TSI AET AT §
THEZI THAET T =5 7 24T 8

D. Awfeu® STy ara=rey ¥ i
m*wwmﬁmﬂ‘

rﬁaﬁnj-

Based ﬂﬁ-thc— above figure, which one of the

following assumptions is cormect?

I, The interplay between Cdx2 und Octd
can influence the Tormation of 10M

2. The IEM would Torm even if expression of SRS
Octd was inhibited. Frmfar s & & 97 o0 e a2 ,
3. YAP and TEADA are upstream comporients l. A, BT C 2. B.CaarD
of Cdx2 and can be inhibited by Nanog, 3. Bmr R 4. A CTmD
4. The expression of Stat3 is optional for iy )
maintaining pluripotency of the ICM, 102. Following ire certdin ststements with regard
to plant respiration:
0, 4o e A et g o
wray & et 0 3% V1 g7 s A and not NADPH,

TTHAT SATAT AT TR 7 IS o g, ;
> e Pt T v Gl B. Metabolism of glucose through

oxidative pentose phosphate cycle

TP ST 9000 8 does not produce NADPH.

A. COL-1 s s saffRures sy yo & ‘C. Cyanide pfnnns a complex with haem
kpdeht Ll _ . iron of gytochrome oxidase leading 1o

B Awel-1 St we bt aor g ghe  prevention of change in valency, which
HAIHA N “in tuen stops electron transport in the

C. Awxl-| =7 w7 w=TrET T 7 g0 T TgET respiratory chuin,

D. (COL-1 e =T 747 g i W a5mEr D. Allermative oxldase is insensitive to

Freafisfivar it & e o7y e &7 m: ;.lg :’E:isd];gcher Km thir that of

. A, BT C 2, ¥ A wﬁ; s ey

o — 3 : hich one of the following combinations s

3. Tl 4, FTEAC it :

101, Jasmonale is known o inkibit root growth 1. A, B and € 2 !E‘ C ?I'"l D
while auxin ficilitates root growth. Upon 3 Band D 4. A Cand D
infection with pathogenic bacteria that
produce Coronatine, we may expest the 103, frar i ardt cryl, wener srsfy qurt &
follaowing in plants: AT wET (CCTY ¥ wmr Seaeyfiar @
A, Upregulation of C0)-1 gene and COP| #r SPA| wfesdt 3 Fuay 3 7H sHaEA

inhibition of root growth, e HYS % e @ e
B. Upregulation of Auxi-1 gene and Frawer w2 Frafatee wa=t w7 0fn
nlbicion of root gravihy A. COPI she SPA1 wftses & et cryl,
C. Inhibition of duxl-I gene und s HYS & Fim St @i aErar ) '

promation of root growth,
0. Inhibition of COY-{ pene and
promotion of root growth.

B. COP| T SPA | siftsrs &7 cry| s
T HYS % fraes sy <rmewmd s 2l
C. CCT sfsrsaton woay & ofte Wt 57

Whicli one of the fallowing is correct? ST AT T &
I A Band C 2. Only A D. CCT sfaafats w7ar & = ghaf w1
3. Only B 4. Only C mﬁmmﬁ
I o _ Fvile WAt i et s § & e F
102, Ry awa & HEf g e Fergae & <1 afrTR GrEHTrR R g

3-A-H
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103,

104,

104,

F=TB
B.Cam D

. FaTA 2.
i ABTC 4.

Blue light receptor eryl binds to COP1 and
SPAL complex: by interacting with C-terminal
region of cryl (CCT) in a light dependent
manner and regulates photomorphogenesis
vin transeription factor HYS, Reéad the
following statements:
AL eryl binds to COPY and SPA | complex
leading 1o degradation of 1Y 3.
B. cryl binds to COP| and SPAT complex
and prevents degradation of HY'S.
C. CCT i5 overexpressed and the plants
aire kept in dark.
D. CCT is overexpressed and the plants
are kept in fight.
Which of the following combination of above
statements will result in photomorphogenesis?
L>Only A 2, OnlyB
3 A, BandC 4. B.Cand >

W ST § w2 ohat # s
O AT T st # g & e S

dﬂﬁmﬁmﬁﬂﬁmw
gt 21 :

B. st sverswr it qerar o o stvear Safaian
g ]

. T SR AATATAT S0 S AT SR

Frafafrs &9 v a7 s w30

I, A7aTB 2. BwarC

3. A C 4. BmawrD

After absorbing light, chlorophyll moleciles
in green plants exist in singlet and triplet

states. Following are certain statements on

singlet and triplet states of chlorophyll

maolecules:

A. Singlet state is short lived compared to
triplet state.

B. Singlet state is long lived compired to

~ triplet state.

C. Singlet state contains eléctrims with
anti-parallel spins while triplet state
has electrons with parallel spins.

3-A-H
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D. Singlet state contains electrons with
parallel spins while triplet state has
electrons with anti-paratlel spins,

Which one of the following combinations is

correct?

|, Aand B 2

3. Acind C 4,

Band C
Boand )

WA AT IO ¥ At Ay A A §

#, Pty v Ay oo
T SRS W # g awdt & iy
T AEALAHAT FAT B

B. steftga arsdram 1 st avssre &
FIA W g NAD(P) 6 =7 # st &t
ATFOTFEAT BET £

Aeftfirs §1

1)

FTAT 1 0 (THIATS AT 7 W o

we £
I Az 2. ABrarC
3. BT D 4, AT D

Only members of the plant kingdom and
ity bacteria have capability of tiological
nitrogen reduction. In this regard, following
statements are given; _

A. Nitrogen is normally taken by the plant in
their fully oxidized form but needs 1o be
reduced hefore ingorparation in orgunic
molecdles. _

B. Conversion of oxidized nitrogen into
reduced nitrogen needs energy in the
form of NAD(P)'.

€. The metal associated with the enzyme
nitrate reductase is Magnesium.

2. Nitrate reduction takes place in the
cytoplasm, whereas nitrite reduction
takes place in chloraplast matrix.

Which one of the following combinations of

the above stalements s correct?

I. A andC 2 A BandC

3. Band D 4. AsandD
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Adda247 Ly
106, s & #re sAeiar F S, amwireew B, Rstwigs Sermras, CO. T HCOy
wardt ST W S s ¥ e e w wAa & oo e s W st
oy a1 =w wardt st qfer #@ FE A & ’
wrafir Frarfafar wwer aome o & C. O, ¥w Sttt 57 CO, fvm 7%
A. e fi 3y g5 wen ) T FHE TwTT AE & 2
B. sy st 3 30w v awE 8| . O, mar CO, i vt v it
C. v wfitfirar 7 2w & o 81 # aa
A B Frfrfar st i it ey oot et it
FYAT AT ® fwte R s 5w AT HATat S gt 87
sl 1 1. A war B
I. A, Bawr D 2 ACoD 2. BwariC
3. A BT C 4. B, CmarD 3, Cmar D
4, AwmarD
106.  During interaction with host, phytopathogens " o ,
are known to deliver effector proteins directly 107. The CO, dissociation curves of oxygenated
into the host cells. The following statermerits and deoxygenated blood are given along with
were made regarding the role of these effector dissolved CO; below:
proteins;
AL May promote pathogen virulence, L
B. May elicil avirulence response, n
C. May suppress defense response. i -
D. May promote plant growth, "
Which one of the following combinations of o
the above statements is comect” § it B
L. A, Band D ' 3' -
2. A, Cand D .
3. A,Band C
4, B,Cand D
Following are the statements deduced from
S _ the curves above and/or based on the know-
o b o g s e e e
it F LS not be correct:
A, The deoxygenated haemaglobin has greater
w affinity for CO; than oxygenated haemo-
o B globin, ' '
2w B. The deox¥genated haemaglobin docs ot
£ bind with free 11* fons releasod duiring the
E ¥ formation of HCO;™ from COy.
B = C. The haemoglobin saturation with O has
g = no effect on CO; dissotiation tlrve.
o B, Oy and CO; bind to hacmoglobin at
different sltes,
Which one of the following opfions répresents a
- . combination of all correct statements?
awte et & e e s o fr, marisaer l. Aand B ' 2. BandC
CO: TTeaga & AT H ST STaTE T T 7T 3. CandD 4 AandD
AT &, T AT AT §T A
A, At Srmeartas & s sttty
AT T O, ¥ v w wfEw
FARLEA
3-A-H
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108, wpra  s=nft

=

mﬁﬁmﬁ}mm%mm

it nfafafmT (wt=er B) w7 = RBar nay &
T A wtad B =
a | drEme i 'fﬁ'ﬂﬂ‘aﬁﬁwr
| b | wpErE | i umﬂﬁ'rrzrnﬁﬂwgﬁr
st ]
¢ | o fil | frey st Fgdmr
d | wdy iv | Frey st R
T THE W
e fastr Ao samfA B R
1. n~is b=iv: e=iis d-if
2w+ beitl; ey d-iv

= Lk

108,

a-iv: beil; -iiiz d-3
g-iily by g-iv; d-ii

Given below are the different intervals/

durations of electrocardiogram of a human
subject (column A) snd the events in heart
dhuring the process (column B).

COLUMN A COLUMN B
& | PRinteryal i | Ventriculanaetion
|potential
b | QRS duration | §i | Atrioventricular
L conduction
¢ | OT interval | iii | Mentricular depolari-
) Zation |
d | ST interval iv | Plateau portion of
the ventricular
action potentinl

Which one of the following options is & correct
match of entries In columns A and B?

l.

= i b

-1 b-iv; c—ii d-ii
. Beii: Bl e

d=iv
a=1v; b=ii; e-iii; d=i
a1l bz o-iv; d-il

109, SraT Vv F St % T

B-A-H
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Cholesterol

| s
Pragnenolone.

l Smooth ER
Progestarone

11-Deaxycorticosterone-

|

Aldosterona

S e sr resrr R S A i G
- 21 -greyreitE

i | Fr450 a7 sy Rrewe tapy

i | 3p- grerwdt Stz femgfem

Forwrfar & & v a frwer stasit A, B st C

L A-i; B CHl
20 Al B CHi

30 A=y B-iii; C-H
4. A-ii; B-i; C-iii

109, The pathway of synthesis of mldosterone in
zona glomerulosa along with the intracellular

locations is shown below:
Cholestaral
' P,rannunnlon:
l Smooth ER
Progesterane
@ l Smooth ER
11:Deoxycorticosterone.
4

l

Aldostorons

The enzymes below are required for different
steps of synthesis of aldosterone:

S/06 CRIE/19-3AH- 3B
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i | 21-H ydmxylasc

il | P450 side chain cl];;:;mh_: nzyme _

iii | 3f- Hydroxy steroid dehydrogenase

11,

[,

Which one of the following options:
represents correet matchies for A, B and €7
ATy Bl C-ili

A=y B-1; C-ii

oAy Beiiiy G-

. A-tiz B<i; C-Hi

B L) -

qr-ss st ety o
v BT emEr (A, B, C, D% &7 F Rfem
ﬁa‘a‘ﬁ'ﬁﬁ'ﬁgﬁﬁmﬂrﬁwﬁi w1 wr R dre
waT # Freimmt 7 e et e ¥ A
ﬁwﬁ-’-ﬁ-ﬂ'tﬁﬁrﬁﬁwﬂr{#

POMC (1-134)

B (42:134)

E_____1
O (104-134)

Frwrfarfir wfite Fewit it 3w w4 7 A,
B, C e D s zutm 49

o A= Bl Cafi; Del
. A-ily B-iil; C-i; D-iv
+ Acty Beivy CHiil; D-1
A-lliy B-1i; Caiyy D=}

e

Given below s a figure of pro-
opiomelanocortin (POMC) polypeptide and
ils cleavage products (marked as A, B, C, )
which have different hotmonal activities. The
names of the cleaved products obtained from
POMC are shown in the table below the
diagram

3-A-H
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POMC (1-134)

[ = =1

I 11 T e ]
A [1-38) B (42-134)

G (1-13) D (104-134)

i | Adrenocorticotrapic hormone
i | fi- lipotropin

il | - melanocyte-stimulating

| hormone.

iv_| B-endotropin

Which one of the following options
represents A, B, C and D correctly?
1. A-i; B-ii; C-lif; D=iv
2. A-li; B-iity C-i; D-iv
3. A-i; Beiv; C-iti; D-ii
4. A-iii; B-if; Ceivg D-i

AT § A gvw sfAfEaT ¥ ame w1 e g
B wwg T At A) S s v (W

(28N

B) = Ry &

Fiaq A W B
8 | mresfrdrEs |0 | wewroeaE Sttter
b | T it | e e
¢ | it iii | gisreytam i st

| S
d | wresew iv | e e =
ST W

e ey v v e &7

1. adyy bedizc-i; d-iii
2. a-ii; blily e-lvy dei
3, ity bel; ¢oii; deiv
4. a-ii; b-iv; c-iii; d-i

During prolonged illumination, rhodopsin is
desensitized which leads to the termination of
visual response. The assogiated proteins
(cclumn A) and their effects (column B) are
given below:
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Column A _ Column B |
a| Phosphorylated | i | Phosphorylates opsin |
opsin
b| Rhodopsin i | Binds to phosphory-
|| Kinase lated opsin |
¢! Arrestin il | Decreases activa
tion of transducin
d| Phosphatase iv | Reverses the termi-
ration process

112,

12

Which one of the matched combinations is
correct?

1. -aivy b=tk o-3; d-ii

2. a-ii beiiky e-ivyd-i

3. @i bels c-dig d-iv

#. m=if; belvy e-iliydei

2t # ez wn g R W g
ﬁﬁ?ﬁmmﬁlw*wmﬂﬁ?ﬁ%

# # srafrr v ¥ e, mw feel &

W?#]?&mﬁmﬁﬂﬂ
v swAtery wr B aar 10 R o s
e sy W

FrwfETir T if # = AT A 7
T wrvR R
ﬂwﬂwmh

4 ﬁfﬁm; sﬁa’fﬁmaﬁﬁﬁm
T AT TEE et # AreR Jz wret

i

Estrus ¢ycle in rats is controlled by pituitary
and gonadal hormones. While treating a set of
rats with vitamin D, a student accidentally

injecied the rats with an inhibitor of 17o-

hydroxypregnenolone and checked vaginal

smear for 10 consecutive days,

Which one of the following observations is

1. The smeurs showed well formed nucleated
epithelial cells throughout the period.

2, The smedrs initially showed normal estrus
stage but eventially entered a prolonged
diestrus stage.

3. The smears showed leukocytes and few
epithelial cells,

3-A-H
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4, The cells showed metestrus for 3 days
and then returned to the proestrus: stage.

qﬂ‘iﬁﬁwaﬂmﬁ'ﬁﬁrﬁtﬁﬂﬁ
ﬁmﬁﬁ%ﬂmm*ta‘rmﬂhm
a b ¥ 4 e sy wa st 100 T
sret w1 FRpmor fmr ) @ e b o e

it & vt o fRaw ¥ SA=w W 6 AW A

ﬁmwﬁ'ﬂ‘rﬁﬁﬁwm

a [1 [ 23 4 |5

ab | ab |ab |abk |ab

la"b| ab’|ab ja b |ab

ab |la bla'h |ab |d'b

_lablub lab lab |lab

il 15| 29 52 2 2
v | ;

zﬁﬁmmwwﬁvﬁﬁ'ﬂﬁnﬁﬁm

A. afH a" AT gATEE AT HEO w5
oy 31

B. i 2, "’ 9T A F ATH 3 WO

- et sfEe R e &

C. 7t 5, "a’ - aweg A7 b - qAAE
5 frar 3 wgv=a 1 wefET Alge
Tar@fiwr s ol &t

. = 4 weft 4 sgroga fy wrfrrt wigs
Rty e &

RruFrRrT Rt o 3 i et ol
wartar &7

I. Awar B
3. Baar D

2. AmarC
4. CauD

Centromere positions can be mapped in linear
tetrads in some fungi. A Cross was made
between two straing a b and o b and 100
linear tetrads were analysed. The genes a and
heare located on two arms of the chrmomosome;
The tetrads were divided into 5 classes as
shown below

[Class | | _[2 3 1 15
ab | ah ab ab | ah
a b | ab |ab la b |[ah
ab lab |a b |ab | ab
gbh la b Lo b la b | ab

Linear -

tetrads 15 |29 52 2 2



https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal247

GET IT ON
Google Play

37

Based on the above observation, the following and progeny of this cross, the following

conclusions were drawn: statements were given:

AL Class | is‘a result of a cross over  between A, The 6:2:3:1 ratio obtained here indicates
*a' and the centromere recessive epistasis

B. Class 2 is a result of a double crossover B. This cross coneerns two independent
involving 3 strands between "a" and the characteristics - body colour and type
centromere of hair

C. Class 5 is a result of a double crossover C. The deviation of dihvbrid ratio from
between ‘a’ - centromere, and "b" - 6:323:1 10 6:2:3: 1 may be due to one of
centromere, involving three strands the genes being a recessive lethal

. Class 4 is a result of a double crossover, D). The lethal allele is associated with
involving all the 4 strands straight hair
" : y r ; : The mast appropriate combination of

Wh};h one of the following options represents :tt!cmémsﬁfﬁ:i - genmi: st i

all correct statements? this result is:

L Aund B 2, AandC I, BandC 2. Aonly

3. Band D 4. CandD 3. B,Cand D 4. A, CandD

Hid,  #fter arst e 2 fsr st s gafre R st 115, % wfrarr ¥v vy B oy @fie o % B

172 4, ity sy ammasmﬁﬁvmﬁaﬁwﬁﬁ
/6 i, it ar w1 FAT AT % wEET e St A
|4 g, 3ty ey W s e Py aer & gt g @ s se
112 g, watam @ ) et wa A A 2 edre s el 8 e

afroTst ot ST srE T v A i

TRy & FAwiatay wor oo

A. TET TR 6:2:3: | =T SwTHt yAwer
T FaiaT i

B. 7g s 7wy or- o i i
ST W T ;A §)

C. Fvwomr segara o7 9:3:3: /W 6:2:3:1 &
Farrer o 3T % oAt WA g o
FT 3w &

D. e gt Fir et & s oAy it ZWTE S Aerrafer ) wRrf sEn
s rr Bt e s g FoA W AT frs A e A e o s

5w b e e i A, Xt ot ettt

l. Brar C B. X-571m syardy enfradw

2. FATA C., STEEra i Famh

3. B,CaarD D. fAfyr sfrsafy 51 o Roearsdt &t

4. A, CaarD e

114, Two: yellow mice with: swajght hair were Tk m" s e fﬁj

crossed and the following progeny was it gt s skl

obiained: 3. ¥m9 B 4, A
L2 yclioe st s 115. A family was examined for a given trail

116 yellow, fuzzy haly

174 gray, straight hair

1412 gray, fuzzy hair
In.order to provide genetic explanation for the
results and assign genotypes 1o the parents

3-A-H

which is represented in the pedigree shown
below. Further, the degree of expression of
the trait is highly variable among members of
the fumily; some are only shghtly affected
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while others developed severe symploms at
an early age.

The following statements are imade 1o explain

the pattern of inheritance shown in the

pedigree:

A. X-linked dominant mutation

B. X-linked recessive mutation

C. Mitochondrial inhéritance

D. Variable expression can be due 1o
heteroplasty

The best possible explanation for this
inheritance is

1. Aand D 2. Cand P
3. Bonly 4. 'Aonly

w: Faendt (s § A s Ty oA B
ety st &) Ft Faf & wafir g T
s s P fir Sy fi i fg s

ol TS T T T
ez L] | 4 | e H
Bafation i ;_—-:—I i :
Daletion : g
Dajetion = =

srrsrrdt Feateadd w boe, d, e f T g AT S
&g o Fger g Py o e &, v o T
TPt W oww s Wl &1 9 swardt
erfrdat & B gwgeft wffaat g7 dw,
%, we Fwfatas ot o g0, 7@ a7 ‘m'
Fefradw sawwEy o w=tig v § 6

T T e A 8
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B a |b e [d | e |F |8
1 ¥ me o e LI
2 F |+ m|m|+ [+ |+#
3 16 N S T .« il B
4 m |+ + m _;11 + +*
5 mlt |+ [+ |+ |m|m]
6 |ml+ |+ [m|m [m]+

WIS T AT gEAteaA T ot s e
. bheeafpd
bedfiges
Vhedeafg
cdeapfh

L =

The location of six deletions (shown as solid
line underneath the chromosome) has been
mapped 1o the Drosophila chromosome s
shawn in the diagram given below:

‘Chiromansme
Delstian 1 l—,'_—}—-f P :7I 1
Outafiond 1—:—1 : : : : t
Deletion 4 |—._i | :
Oplétiens — —

Recessive mutations a, b, ¢, d, ¢, fand g arc
known tobe logated ino the region of
deletions, but the order of mutations on the
chromosome s mot known. When flies
‘homozygous for the recessive mutdtions are
erossed  with  flies homozygous for the
‘defetion, the following results were pbiained,
where the letter ‘m’ represents & mutan!
phenotype and '+ represents the wild type.

B Mutations «I
Deletion] ¢ |b le |d |e [ |g |
1 + Imildpy m 1+ |# =
9 T [+ [m m [+ [+ |+
3 14 |+ [+ |m |m |+ M=
L m |+ I+ [mim [+ [+

E] m [+ |+ |+ |4 (mim ]
| 6 [m [+ |+ |m [m |m |+

The relative order of the seven mutant genes
on chromosome is:

I. beeafgd 2.
3, bedeafy 4.

bedfgea
cdeagfb


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal247

1ni.

7.

Freamire darafy #, wrifir g o groifer
o =t £

gl
Tl Yol

-1 5 Fm 537 s o 207 s oo afas &
| 2. 174
3. 18 4. 13

In the following pedigree, individuals with
shaded circle or shaded square show presence
of a recessive autpsomal trait,

m T

The ealeulated risk of ocourrence of this trait
for 111-1 is

. 12 2.
3. 148 4.

1/4
13

wirey Wi R ¥ e, st &
=k ot sl ftr o Pt § vty &
lrh ﬁﬁﬁ#ﬁ%ﬂwmﬁmsﬁ?aﬁﬁ

I. é‘ﬁ?—mmgﬁﬁz@t
LIGELES ) ¢

. FefH— ETHE T - afegas; ffw -

. B - graviiteRay; T - grEe; Al -
AfEpAT

=]

e

£
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During the course of vertebrate evolution, the
Jaw bones got modified into three ear ossicles
in mammals. Which one of the following is 2
correct malch of ear ossicle and its ancestral
jaw bone?
1. Stapes — Artivulary Irmcus -
Hyomuondibular; Malleus — Quadrate
. ‘Stapes - Quiadrate; Incus — Articular:
Malleus - Hyomandibular
3. Stapes — Quadrate; Incus—
Hyomandibular; Mallels - Articulnar
4. Stapes — Hyomandibular: Incus
Quadrate; Malleus — Articular

3% ]

wegferat # o st s (st Y) fer e 3

B FiEw.Y
A Siafadt s

B AT

C | ofmmr | (i) | g #ere
D (iv) | ey s
wife it ey At T T it W

A1)
Lif)

%

LA =, B=iii, C=ii, D—
2. -h'—m B—iv,C=i, D-ii
3. A-i, B —iv, C—ii, D ~iii
4N =i, B -1, C =i, D -

Given below are names of the animals in
column X and the accessory respiratory
organs in teleost fishes (column Y,

Column X __Columa ¥ ,
A | Anabas. [ i) | Labyrinthine organ
B | Clarias L) | Air sucs
C | Amphiphows | (i) | Supta branchial
, ' cayily
D | Ehanna (iv) | Arborescent organ |

The ecorrect match of the animals with the
accessary respiratory organs they have are;
A-iv, B=1H, C—ii,D -1

A=y B=iv,C=i,D -

A= B=iW,C-H,B—il
AT, B -1, C—ili, D-iv

el
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120, frerdtn wzrrsr m Rfie aftr ol W i % FTa 3 AfieRw T A A
wfereres wver aTer o o wtew X # farg o P w1 <y
T FAR Hag yrioeEt ¥ Avy wtaw Y # o I T T T
% 2 i-Aii=Giii=D
X | sy ‘i At B D
A [Rrirzr | (0| ferer st Al
{B:' : o S E::E] #iﬁwrﬁ% 121, The table lists characteristic anatomical
4l features and names of planis.
D | ga77 (iv) | FrameT
: - - Anatornical features Plants
_m ¥ ﬁ.ﬁm kaw S WSS (i) | Prostele, xylem core | A Lycopodium
FRe v st oy wvely R @ surrounded by phlogm '
1. A=i;,B=ii,C~iil,D=iv (ii) | Siphonostele, centre | B | Marsilea
2. A—iv,B=0i,C~ii,D—-i - pith present or rhizome
3, A—iil,B-1,C - :1* =iy b medulated [.&‘mimsti:lc 7
4 A—=ii, B=iv;C=i, D=iii (iii) | Eustele, conjoint C Sefgg:'neﬂa
vasculature on edizes Species
120, The terms cxpressing some of | the of the pith - -
developmental events or specific  body | | Equiseiwn__|
structures are given in column X and the . _
pames of animals that are associated with Choose the option that correctly matches
them in column Y: plant with their characteristic features,
' : L. - € ii— By iii -
__ Column X Column 'Y 2 - A -Ciiii- D
A |Tomsion _1(1) |Starfish 3. i G- Asiii-B
B_| Metagenesis | (i) | Oelia 4 1= A;ii-Biiii-D
C | Apolysis | (iii) | Taenia I s
D | Pedicellarin | (iv) | Apple snail

The correct match of the terms. in eolumn X Frohrfrof

with the name of animals in column Y is: = = - ==
Vi h—l,B—lLE-—-Iﬂ,D—W — A m
i A—w,B—-n.C-uLB—; AR T i ;
3. A —hi, B, C=H, D=y . (ii) W A B ﬁiﬁi’ﬂ'
4. A =i, B—iv, C=i, D—=iii T o
- (iti) | fdrarmgey, 8 |C | v
121, otef & Fmp e 3w et et o= RS ,
afae it itz fe T & (iv) | s, 16 | D | wieiiay
LAk
it offir
(i) ﬁﬁtﬁ@ﬁgm N e Frwfafs fwedt # & i a7 = 30 F q
e o T W | ‘ STY AT wevr T W G 57
(i) (rewraretre it |B |arefifiar L B0 H-Cartii-Ag iv-i
L et et ol 2, - 0i-B; ii-As iv-C
gt R 30 Az i-B; ili-Dy iv-C
(i) [edta, Fve % feerret (C |famfaT 4. 1D -8 Gl iv-A
D stz

3-A-H
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122. The table given below provides a list of D. Angiosperm wood may be either diffuse- -
temale gametophyte features and plant genera POTGHIS O FiNE-Porous.
L ) Which one of the following options:
Female Gametophyte Plant Genera represents all correct statements!
(i) | Monasparic, 8 A | Allium . ‘Aand B only
__| nucleate 2, Aand D only

(i) | Monosporic, 4  |B | Oenothera 3. B and C only

— “"fc]ﬁ[" , = 4. Cand Danly
(iii) | Bisporic, 8 C | Peperomia -

N o TR T b 124. e B TRAAARAR T e g &
(v nﬁ;;:f:nc' ol gonum fr Fafa % i e —
Which one of the following options correctly
matehes the plant genmera to female game- :
tophyte features? WATTH ik L

P ¢, |G €y ] €y

L =Dz ii-C; ii-A; iv-B | Spl X 9 L 0140
2. §-D; §i-B; fii-A; iv-C Sp2_ 160 L oL Dlet
3. i-A; TiBs TiiD; iviC 3 R S S b
R tR R Spd 0 180 0 [0

Bl S D= Sp5  [35 | 0 | 215] 45

: S 65 0 20 55
123 g o7 i s frfedt & w6fe w2 e po
ey w2 ” A e 3
U dctital S S ¥ ?ﬁﬁhﬁwwwﬁﬁuﬁﬁﬁﬁ
. g Fwfafry Fremd Fwr
{ﬂﬁ#iﬁﬁﬂﬁwﬂ?mm i O AT CA TR AR
B. Wﬁ*ﬂﬁﬂmﬁﬁﬂ?vhﬂ'w ' S SNV SEEN SRR NS
FATAAT T £
wrfirwrst £ =t §eft 3 3 B. sray wgara C, w4 C, 779 # /14 awaw
C. srrdifirt § T wrefiwdieor AT C, 7T Oy TR At & s
FaATAW wrierwrsit site AR 2 HATEAT T £
ot et ) C. mmc.mﬁ?ﬁ%ﬁmm‘gl
D. st wrg r ot Prafra-addfte et D, i 731 C, waffer fHfway av 1
-t e ) To fwedt & ded § Preffm st § 7
Frafafir feweit & % < ot ot et 1 Wi e 22
i i e S L
I, %= A Tar B 2. Fam A mar D frewd it &
P Rk 3. % A war C Frowed gt &
3, =3 4, ¥ B A9y D FAont
3. BT C ek
4. FFF Caar D 124. A field ecologist gathers following dawm
(abundance values) in order to study diversity
123. Following are some generulizations related Lo of species in four plant communities,
wood anatomy of higher plants:
A. The axial system of conifer woods Sriedles Community
consist mainly or entirely of tracheids. . C, GG |G
B. The rays of conifers typically contain Spl 90 10 | 0 |40 |
only parenchyma cells, Sp2 60 E 0 | 65
C. The rays of angiosperms typically :ﬁi :]5 Iiﬂ gﬁ ;ﬁ
;:?ﬂntnin bath selerenchyma cells and SpS 75 0 | 215] 45 |
BRINCE: Sp6_ [ 65 [0 | 2038

3-A-H
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Based on the above pbservations, the ecolo-

gist draws following conclusions:

AL Plant communities C and Cy show
strong sirilarity with each other

B. Plant communities C, and C; as well as
eomimunities Cp and €y show strong
similarity with cach other

€, Plant community €, is most diverse

D. Plant community C, is most diverse

Which of the following statements'is correct

regarding above conclusions?

1. All the conclusions are correct

2. Only conclusions A and D are correct

3. Only conclusions A and € are correct

4. Only eonclusions B and D are correct

125. i & wf aifewr # omw It i g
gfE w1 & wwre fem o )
() |sonsmesy | A | qaeife
(i) [ woear. |B | mifz
(i) | amweznite o | C | st
(iv)|zmer D | s

watfow wart gf% #v % o Pwfafm 7 &

apfer i i AT 87

=D = - B v = &
i — Coli— Az il - Dpiv=D
- Byii - Gaiii - ziv-C
=€l — Asiii - Dyiv—C

Ik =

Y

125. The table given below lists tvpes of plant

communities and types of growth forms.

Plant communities Girowth forms

(i) | DPry A | Chamagphytes

| grasslands

(it) | Semi desert (B | Cryplophytes

(iii) | Tropical | Hemicryprophytes|
forests

(iv) | Tundra [:| Phanerophvies

Which of the lollowing is the best match for
the plant commaunities with most dominant
growth form  penerally  present in  that
commimnity?

3-A-H
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i~ D i — A il — By iv —~ €
=G - A il=-Driv-D
i=Byii =Cyiii=Dsiv=C
=G ii—Aviil—D;iv=C

LoD —

mw wiftfeafmsy # st wme & adfm

e ey Frsria €

A wiETRTOaT $1 e s gt &
T wrr &)

B. st srrrerfrat ft s awE sy
oTTETTAT # T g &

C. FAHTHAT T TTAT=7 SHATT w45 04T 7
T A 8

D). TIw-F17 SATATATO SHAT FHAT i AHAT 7
P W ESTH ¥ Ty 2 R

I F et 97, e Rwer s

|, W At C

2. R ATTR

3. A, BT C

4 ACoaT D

Following are some of the gencralizations

regarding energy flow in an ecosystem:

A, Assimilation efficiency of carnivores
is higher than herbivores.

B. Consumption efficiency of aquatic
herbivores is higher than terrestrial

C. Vertebrates have higher production
efficiencies than invertebrates.

D. Trophic-level transfer efficiency i<
higher in terrestrial food chalns than in

Rased on the above, select the correct option.
1. Only A and C

2. Only Aand B

3 A, Band €

4. A,Cand D

T i i a Ry R i et
S FgATEIT w9a §, AreSted sftwew St
(FafFzsr wadt.) w CO, ¥ sy =7 (Faf)
7o fEw w7 amrd wf ammedm CO,
(i o fafar 3 et & sy A ok g
CO, ¥171 F ATEZAT ST 77 7§71 07T
AT AAT 1 ST A AT AT (A Fur =
Wt i wfeet o =z od gttt & s
it T weraE w s ot (=tz B,
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PrlatA
5
I
33
]
L 4
53 -
Rk |
L1 T (. S = BASE_
af .
O w 204 = .
Bl .
E Y 2 34 5 8 7
Y|
PlotB
3 Condral plants

2

B Eypanmantal plants

£

Concentrafions in Leaves
3

: lmn 1rngfm Whtlykudeisu
g

it warn & Frefafas W s a9t

|. N-wafimre & a7 27, N-erfamn &
Hifer=2ay  9fat o w23 =0 A HEaag
o

2. =dt g CO, ¥ wrefips wire g9 77T
3170 N- oy 57 e

3. N-sxrfpwom 3 Friae wzra CO, % 359 3010
TV R A1

4, @ g OOy 7+ % Frea s & wifaa
Fedradi

In an experiment to show that biogeochemical
cycles interuct, nmitrogen  fixing  vines
(CGulactia sp.) were grown in plots under
normal levels of CO; (Control) and under
arificially  clevated ~atmospheric €O,
( I:.xpmrncmal} Effect of elevated €O, levels
on nitrogen fixation was: measured over a
period of 7 years (Plot A) ‘and the
concentrations-of iron and molybdenum in the
leaves of these plants were gquantified at the
end of the study (Plot B),

3-A-H
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PlotA

8?53

{as % of basaling}

i

Elevated CO- efiect on N.lbation

Plot B

CJControl planis
E Experimental plants

o
<

-

Concentrations in Leaves
F-
g

lﬂll_

Iron (malg) Mﬁ!:rbdu AL

Which one of the following inferences CAN-

NOT be made from the above experiment?

1. Becreasing rate of N-fixation correlates
with detreased levels of leaf iron and
molybdenum, two micronutrients essential
for N-fixation

2. An initial exposure to elevated CO,
incresed N-fixation by these plsmis

3, There is & continuous decrease in N-
fixation due 1o elevated €O, treatment.

4. Plants exposed to continuous elevated
levels of COy had lower levels of iron
and molybdenum in their leaves

e

Lol A L I ) R

A [ gwirmar | () | qow mar snf-ae

B | derar#wrer | (i) | qeown s

C | grwfae (iii) | swdqin
g | — 2
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128,

129.

I A-ii,B—i,C —iii
2. A=i,B=Ti,C=ii
3 A-HiiB-ii,C-i
4 A-iiiB-i,C=ii

Match the following invasive plants to the :

likely liabitats in which they are expected to B. S
ocer: Number o
victims (V)

[Eyamv; plant | Habitai(s) that they invade :

A | Eichhornial (i) | Arid and semi-arid [

| crassipes | habitats b l l A

B | Lantana | (ii) | Dry and moist <. 5 l . T

, camara | | tropical forests E_ l ‘g’,

C | Prosopis | (i) Wetlands ||/ 1 1
Juliflora - & ;.f'J T
e 5|71

I, A=i, B=# C=in C " AR S—

2, A—i, B—iii, C - i At of
s : victims (V

3. A—iii, B ii,C—i 42

4. A-iii, B-i,C~ii

drestareer gonf-fme wtew F giRfoss

ﬂﬁﬁﬂﬁﬂﬁﬁ%ﬂ?ﬁﬁﬂﬂﬂﬂmﬂ‘
F1 Tzer W w81 P ol
FICRE (i-ii) % Frewr g6 el ool awEf
wtaer St Zeta A sy avr (A-C)
A fam o §

(iy firero SpEAT goaEt aron AW F 59 0

FTE AL B

(i) S Fpere (8 smardt §f ave=mn
(iii) gowft arow srar R agam % s

129,

Number of pradatars (P)
! —
—
==
—
—

it Aweat § § #1977 S=Gwar-537T fear

L Geac e R S
T 1 arfaT 7

I. A—{iD), B~ (ii), C= (D)
2. A=), B (i), C - (i)
3. A = (iii), B— (i), C— (i)
4, A—(i), B— (ii), C —(iii)

Incorporating additional ecological factors
into the Lotka-Voltera predator-prey model
can change the predator isogline: Given below

representing modification of predator isocling
- due to the ecological factors' listed below (i-
= iii).
3 l (i) Victim-abundance acting as predator
3 } l carrying capacity |
& l (ii) Awvailability of altemate prey (victim)
A E l DU population
g f t fod 4 (iii) Predator carrying capacity determined
= 1 by factors other than victim abundance
Numbar of
victims (V)

3-A-H
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L8
IR 3
Bl
E i i
s /rtgt
m?:s:

f
A4t

TTT 1

MNumbser of
victims (W)

£
- ¢

=
Numbef ol gredators (F)
H—

]
Number of predatars {P)

Mumber of
vietims (V)

Which one of the following options

represents all correct matches of the state-
space graphs with their ecological factor?

L. A= (i), B={iii), C— ()

2. A—(ii), B—fi), C— (i)

I A=(iiix B =), C -

4. A— (1), B=(iD), C (i)

WA § ooeft & freroref swoweat, A
Tur B # awia §1 qmwwsr A & el fise .
A, WEV 1A ST oeEd £ 5w amuwey B
i muft, mEreEy A & wfret 3 fime 1 9o )
A 7u1 B morrens spgfr-smarfie s F e
# smardt e vad #1) A frgr T s, A fr
fafira srifers st (B #Fr agf = 1 - A 6
sngfa) 97, A (swaw ) @91 B (G99 &) $
QAT 1 Iwfar &

3-A-H
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FITNESS

i n?_’m vy ;:_:i: ie 0 _u:.s 37 08 o 10
Freguency of Phanotypa &

Frafafs st F § smw Forer wnda w79 22

I. A st soar £ B 3, aremge g1,
A warft g A g1

2. Bargpemat s7ar & A R, qrearEen un,
B wmifi gt wrar &

3. A #ur B 25 spardt § i 8;
ArErTEET Wt § A= 0.6, B= 0.4,

4, A Tt B ST swardt F e £

HrETEEaT Ygtrat £ A= 0.9, B=0.1.

Birds in a population show two foraging
phenotypes, A and B. Birds of phenotype A
search, attack and capture prey while birds of
phenotype B steal prey from  birds of
phenotype A. A and B are maintained in the
population through negative frequency-
dependent selection. The graph below shows
the fitness of A (broken line) and B (solid
line) at different relative frequencies of A
(frequency of B = |- frequency of A).

FITNESS

@ ah e da g4 65 08 0 oh 09 1a
Frequancy of Phenotype &

Which of the following statements does the

graph supporn?

I. A outcompetes B at equilibrium, A
goes 1o fixation.

2, B outcompetes A; at equilibrium, B
goes to fixation.


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

_ A

Addal247

GET IT ON
Google Play

3. A and B are both maintained in the L T
population; the equilibrium 2
frequencics are A= 0.6, B= 0.4, g

d. Aand B are both maintained in the g
population; the equilibrium g

frequencics are A= 0.9, B=0.1.

131, st o o i ww w0 & (s et
#t e dnft & emewal @R a9

20
Group viee (no of indsvidisls)

Gooup st ina of ndivedaae)

132, s el sl &A1 & ars o ol v

ST 3 e g K vt A P 3 o _*m”“‘ﬁ;“:ﬁf;ﬁzm &
RIS Y RGN G (W e 8% B3 TR e, S (T ), el
Tt $1 g, ooft waEt o s f qeer # a‘””;:'mﬁ“-ﬁw.m
et w1 wfd g gegse ArfEw iRE gy %
% B v S T 9 A Fseat A B D s, wred T ST, e,
Tw oy WA A Wity iR

gﬁﬂﬂﬁﬁ#ﬁmmha

2. B

S - 3 C i D

Far capita mortality sk
o
L :

132, The prominent mammal species found in four

different protected areas are listed below:

—F— & Area A: Tiger, Wild dog, Leopard,
Group siz (o0 of idivedaly)  Groussies (0 dmmr _ Elephant
1 o Area B: Common langur, Barking deer,
= ~ Wild dog, Elephant
Ew- _ Area C: Tiger, Indian rhinoceros, Pygmy
z <=  hog, Wild pig
B Area D: Blackbuck, Indian gazelle, Hyena,
£ J yis Indian wolf
rsmud q‘m ot indiwiciaty) mm ire urrdla-ﬁ.nln Thg area with the m phyiugmﬁc
diversity is
: LA 2. B
131, Antelopes are proposed o form groups to icC 4. D
reduce the risk of predation. A researcher '
measured the predation of individuals in 33, i A it & o ST o
groups of different sizes. She found that per 133 gfm mﬁmi._ az‘-i'r m;ﬁ 5
capita  mortality risk  decreased  with i e Gt L
increasing group stze for males (solid ling) i i Hﬁ ,":" e
but remained unchanged for Temales (deshed A. e s
line). Furthermore, males in all groups B, weETar ATt
experienced greater per capita mortality risk C. &2 5T are] srardy
than females; D, 7% srwre Avelt srardt
Identify the graph below that best depicts the E. Feqfia= 1 srar
above findings: F. R s
Fodsn wrl # & s ar fifedt o g
1 st # gteadst 7 s fm?
1. AD T F 2. B, D F
3, A CEsrE 4. B, CmmF

Rl
Geroug sipe (no. af mdiwduals|

Gy shim (ris ol indrvidiiaiy)
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133. The Hardy-Weinberg principle states that 135, s Rt gar a0 swred gasiy e
allele frequencies in & population will remain i ' 1N
constant over génerations if cefain
‘assumptions are mel.

A. Random mating

B. Mate choice

C. Small population size
D. Large popul&lion Size
E. Lack of mutations

F. Directional selection

‘Which of the above faclors will cause
changes in allele frequencies over

- ons? = a
%mim[t;:::dl' % BUDaE ;ﬁmaﬁw#ﬁ,ﬂ.ﬂmﬂm&wﬂﬁaiﬁm
Sl i A kawa 1. ¥fdra, gt B Fr v g

134, A1 g e aar el wd R o 7 i

2] L E 2. g At G e

R Wk AR, ¥
i| s A | vt 5 3. giwtsiwEw, grAT Alatan gt
i . HEAT - : faEew e, eAaET
i | s TEWE i e 4. giateiven sRdEE @
iii| mwmfy | C | srfy v

_ [Rowradias, g dfafae

il BRI S D | v 135, Following Is a-disngrammatic representation of

e o et ¥ mmm@ﬁa human evolutionary trez.

wrat #ir freren

1. =G hi-D -85 iv-A
20 0-D5 1B A v-C
5 N T Homo sapiens
4. G A 1-0; iv-B
134. Given below are few (raits and related
functions:
__TRAIT ___FUNCTION
i |Aposematisin | A | Aequiring food , , : ,
ii |Basking B | Avoiding predation in the above diagram A. B, C and D
iii |Cooperative [C | Territory defence resmruvﬂy represent:
hunting 1. Denisovan, Fomo habifis, Flomo. ereerus,
iv | Song 3 [ Thermoregulation Homo neanderthalensis
2. Homeo habilis, Home erecius, Homeo
Match the above given traits to their most neanderthalensis, Denisovan
fikely functions. 3. Homo ercetus; Homo habiilis, Homo

e G =D dii-Beiv-A
2. =Dyii-Biiii-Aj iv-C
3. 1By =D wii=A; v-C
4, -C5i-A; Hi-D; iv-B

neanderthalensis, Denisovan
4, Homo erectuy, Denisovan, Mo
neamedirtfialensis, Fome Jiihills

3-A-H
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136, swrmuEftw e % w07, 9 et feen backcrossing and ina (i} ratio in F,
T fF weafama & afvten & agayd o & progeny obtained by self-polfination,
Fuftag 1 ofitw & g w9 & o, sitesat ' :
Frmtatas TSt F Sy &7 gefay s 8 e X wn Y
A. ot =7 fieftere i ;' & i iimb {ii e
B. ot it sty sfeer s s T LS L i
C. mrwfere S ww ] (iii) | =ret
0. sfreire s I N (v} | ot
E. S s oy A Ao Fill in the blanks with the correct combination
il of (i)and (ii) from the options given below:
FrsrfatarT et # & 5t a7 s ofr 6 1. (i)=3:1 and (ii)~15:
TESTA %74 & (AT qAH IO g7 2.()~1:1 and (1i)—3:1
I, AT C 2. BAWE 3. (iy=3:1 and (i)-3:1
3. ¥mTC 4. AaarD 4.0y =151 and (Y- 15:1
136. Based upon phenotypic observation, it was 138. wtaw X # ot drartigt & ot a7 slaw Y & o7
concluded that an unknown gene responsible Frmrfeat w ey Ao o & s wpen
for an agronomically important trait is present SrET & w6 et o
in & particular plant. In order to identify the '
gene, a researcher proposes to use the s Y R Y
following strategies: 1 e CE [
A o e ?.?} P e
B. Map based cloning of the gene. ~ il 2
C. Subtractive DNA hybridization (iii) | s
D. Genome sequencing _ (iv) | grafa
E. Develop molecular markers linked to
the trait it s dfi
Which one of the following options s most 1. A—ii: B-i: A-iv: B-iil
sultabic for identifying the unknuwngenc? 2 A—iiis Boivis Anii. B-i
. Aand € 2. BandE 3. A=ip B=ii; A-iiiy B=iv
3 C oy 4. AmadD 4. A-Iv; B=iil; A-B; Bl

137, e Ty wrefteft dtin 3 Sofroam o 21 o 138. Column X lists two disesses and column Y
afafafar # B & vv afey g s gEdt lists name of proteins which are commanly

fafmy 1 greseir Nlﬁﬁ FEIUET T used for routine clinical diagnosis of these
T, TR A AR AAE R (i) A discases

T F-AIEw Gy e Oy eafd 7 (i) , :

AT i M Column X Column Y

A P sy fewet (i) and (i) =t AT A | Myocardial | (1) | Amylase

" Fees ware 'ﬂ‘ﬁ"t{ Infarction

L (D=3l v i - 15: B | Pancreatitis | (i) | Creatine kinase |
2. (131 mar (i -3:1 (iii) | Lipase
3.()=3:1 war (i) -3: 1 J (v Tropamin

4. @By~ 121 T (=151
Find out the correct combination

137. A T, wansgenic plant contains two unlinked b A—=ils B=i; A-iv; B=iii
copies of the T-DNA of which, one is 2. A-iiiy B-iv i A-iiz  B-i
functional and the other is silenced. 3 A-1: B—iiz A=fil: B-iv
Segregation of the transgenic to non- 4 #_i; B-iill- ;ﬂ.-i‘ B_ii
transgenic phenotvpe would ‘pogur in a iy T ’ 2

(i) ratio in progeny obtained by

3-A-H
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139. o R am i 7 fegd oft st F srew l. A,Band D
Ferafoo oy & seaort ar iy Rz o 2 2 A Band E
A. T wrrafer f spemr #0530 ST A 3. AB,Cand D
ArgfvR o A o R 4 AB.CandE
B. vz wy fegt Ft oy ot o, Mifee '
AT AT AW w0 wry Ry s EeEm e
140, v smhrm st =5t aaefe e
R, fgt w1 3t s 3t el wopray ST @ o R e A
vt . Bl (n,,) wg w0 srafire 3
Pl 1 drmr-srery s Spfy s s A ST AT i drersrRreenr
C. ¥ T ASHER M7 T wag a B. #TeT o ST A - e
mﬂ_’“’m”’“ﬁ“ |00% ffes figt C. #WT FT ST 47 AT AT
D m.mm}ﬁﬁmmﬁa D, T A A T waE § i
N _ nptny FrmTafirer STt & & w5 A7 o A
= Thy, ) fmggmgﬁm?
E. st % arere (N) &1 Fsrars st Il AsarB 2, BmarC
fraT wrar; 3. CamD 4. DmarA
" fm 140. A newrsphysiologist was interested in using
%@Fmﬁfﬁ BTTT STATAL 5 S0 W S the patch-clamp technique. Following
L E e e i e U AATE 2 : statemnenis are related o this techmqu:
I. A, Baar D ' A. Intracellular movement of fon channels.
2. A. BT E 2. Post-transtational modification of the
B L = ion channel protein.
3. A B Car D €. Ligand that controls the opening ar
4. A, B, Caar E closing of ion channels.
1. Change in current flow in a single ion
I 139. Givan below are the seps o Ism the channel.
::[;ulnt[nn size of grasshoppers/in @ given Which one of the following combinations will
A. *n" individuals are collected randomly :;;?;it%mr SR the s Clamp
from ithe study area in aidefined period of beedhand B i ndlc
time. st TR &
B. The eaplured mdlﬁdualsaremumeﬁ ITCEED G
marked and released at the site of collection.
Next day, individuals are captured from the 141
sanie site for same length of time. Number
of marked {n,) and unmarked (n,)
individuals are separated and counted.
C. This capture-release and recapture is
continued Hll one gets 100% marked
individuals, ,
D. The size of the population (N} is estimated @ & § 0 T e
as follows: P - v
E | Tyggh My
n Ny PR - e
E. The size of population (N) Is estimated L. & Atk #fe
as follows: fﬂiﬁ?mm‘fiﬁﬂﬂ‘wﬁwwm
N omy SeprrreA FT g B feva
N T e RuRfE ten d R or E sreTe e
T Tt

Thie most appropriate combination of steps
for estimating population size using mark-
recaptire method is:

3-A-H
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|, o 797 o2 7137 H giE; TR § w° 142. Following statements were given regarding
2. wreaPrer # g 1, 12w 3 wefhy lfacttiirs i[i:lﬂuencing variation in erilzressinn
i H s 26 evels of transgenc in transgenic plants;
s ﬁﬁgﬁh # ﬁmﬁ YRR A Al Diffamcegin restrictiqn%mzyic sites
4. e wefae 7 Wi within the T-DNA.
B. Bifference:in copy number of the
141 transgene.
C. Variations-insite of integration of the
T- DNA within the plant genome.
1. Presence of multiple promoters within
the T-DNA region.
Which one of the following options tepresents
a combination of statements that would NOT
: leiud 1o variations In transgent expression
@D l I ' ' ,]@ levels in transgénic plnntsggencm?cd using the
iy S - L same T-DNA/binary veéotor?
I. Aand Conly
The blood plasma proteins. (albumin and 2. Bonly
glnbulins) from & healthy person were S sl
separated by electropharesis as shown above. 3. Cand D enly
The diagnosis of acute inflammation can be 4. Aand D only
done based on one of the following _
observations: 143,
I Increase in both al and 02; decrease in
albumin.
2. L::‘:jr;ﬂsr in albumin; decrease in al, a2 i X ¥ -
. _i_ ‘
3. Tncrease in albumin and decrease iny- gz
globulin. - Eg vl
4. Only decrease in albumin, g‘—
[T b ¥ N
142, e ot i it i P e ‘300 A 0 a5
B v W 9 TR A Wavelengtly (fim) ——
faEETseiRrm s
A, FrET § SET THTET S R s
B, areaftey %1 ST stem i stae .wﬁﬁﬁiﬁﬂﬁﬁﬁ'ﬁ?ﬂmﬁ?ﬂhﬁﬁw
C. w3 A i A e WY, Freta (X), 918 (), mﬁ-ﬁw{z}i:
fafEgamt Tﬁ'ﬂ’:ﬁ' FERAA FUAR A ZACAT 2
D,ﬁ-ﬁmwﬂ?wiﬁm-ﬁm Ty et # # v et s weAr
Frwferfar Gt & 7 s a7 wiest & s |, gt (Y) mar (Z) # fecdrvm & ol
wgmmﬁ-mmﬁw ST (X) # Fae w8
T P TIOTAT T o wtt s wet 2. dréter (X) 8 e ZTeRre T S (V)
n@?&mmﬁa‘ﬁﬂmﬁ v e FavareT &, et wid (2) &%
|, ¥ AT C R e
2. B HET AT o e R
iy 3. P (X) ¥ st sy g e &
. W= C AT ) i e EE
& N AED waf¥ SEAT (Y) A (2) 3 wg e
' Feeer &)
4, TrEm (X) F e ety &
THE (YY) 5 g g frsnes 2,
s S (7) 3 waw g e &

3-A-H
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143,

144,

z
EE X ¥ z
i
&
300 325 350" 78

Wavelength [nm) ———

The above figure shows the fuorescence

emission spectra of three different proteins:

Protein (X), Protein (Y), and Protein (2)

excited at 280 nm.

Which ane of the following sttements gives

the correct interpretation.

I. Proteins (Y) and (Z) have tryptophan
while protein (X) has only, phenylalanine.

2. Protein (X) has only tyrosineand protein
(Y) hias tryptophan on the surface while:
protein (£) has tryptophan buried inside.

3. Protein (X) hus tryptoplian buried inside
while proteins (Y) and (Z) have
tryplophan on the surface.

4. Protein (X) had only tyrosine and prﬂtcinr
(¥} has tryptophan buried and protein (2)
has tryptophan an-the surface:

wwy A & B Tt e e T

TTAT o, i et S o

ﬁwﬁﬂiﬁfiﬁ T WAL % AT E

%mﬁhvmm-ﬁ

wTAfRrgEE ot Aty SR el o AR

FET At e e

A. FrTeeErey | st 97 e A
FT AR R fE & Wﬁﬁ?ﬂﬁ?m
#i

B. Fgata e fpfter sefmes oo § T
AT & war werdt sterefEs o i
woar

C. Fratesaree dfis fafeermt § = gat
AT qIHATIA AT B

[, #iri Ayttt 07 arif 79T £
uﬁa‘f%mmﬁrﬂﬁmﬁa
AT & 3l e aey T
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144,

145,
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!
2. BaarC
3. BT D
4, ATaTB

Specimens  for  light  microscopy  are
commonly fixed with a solution containing
chemicals thal crosslink/denatore  cellular
congtituents. Commonly used fixatives such
as formaldehyde and methanol could act in
various ways as deseribed below:

A. Formaldehyde crosslinks amino groups on
adjacent molecules and stabilizes protein-
pratein and protein-nucleic acid
interactions.

B. Methano] aots as a denaturing fixative
and acts by reducing the sulubility of
protein molecules by disrupting
hydraphobic interactions.

C, Formaldehyde crosslinks lipid tails in
biological membranes.

1, ‘Méethanol vets on nucleie acids,
crosstinks mucleic acids with proteing
and thus stabilizes protein-nucleic agid
interactions.

Which one of the following combinations

represents all correct statements?

L A;zu-ld C 2, BandC

3. Band D 4. Aand B

ot ® | oron | oo
:fé1 — e— | — 115 bp
Py | — | G50p

A, o, Pydraar g, Py i s ot spnam
4T B

B. o St awewl  wAsrET f1 oE v war
o

C. 6", Py A sspfrar Fit seame 91 7r9AT &)
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145,

a2

0. a®, P, & s@ET i o 7 8

Fay 9 iy wfrorrst o st s @ s AT
2

. W A, BawmC

, WA A AT

cHE Caar D

Fam B, C e D

B

Run ofl transcription assays were performed
to establish the specificity of three novel
sigma [actors for their promoters. Resulis of
the experiments are shown belaw:

ot o8 o'+ ob ot
Py — C— | 115bp
Fg | e— - | 95 bhp

Following inferences were made from these
results;
A. o initiates transcription from P,
and " from P,.
B. o can initlate transeription from
both promoters,
C. o prevents initiation of transcription
from F';_J o
D. o initiates transcription from P,

Choose the option that correctly interprets the
results,

1. A, Band Conly

2. Aand B only

3. Cand Donly

4. B, Cand Donly

GET IT ON
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